HERTY SIpAdT RN
RTSARET GEURIET 99 Thgdrt 2098
AT 3100 QOR -2

Jeiel SARTATH WTAR TR 9 o 4 FeATd IR T -
gadr

PIUATE Geare ‘B’ & o (R P A7 Meh JR1eRM SRIGAT. Th Uehdh SBRAMNT T ST
gchrdl T fohcll TR 3Tg, € STl HUITd SMBRATIEN SRIUITIT qRgHTeAT UIRRTEAT FHIhROT

SRId ST

(gam) p =

m_(gHH)
V (3MhRAM)

SETERONY, AegfftarTl BaT 2.90 g/em3 (g U I MM cm U WfeHfieR) anfor Rremeh e
99.3 g/em3 IR, i, SgMfTSTT TaT 90.0 cm3 SMHRTET JoreaTd FRGAM R I TR, TR JIeTd
STPRTEAT RIQITea gepeara aRgA 993 U9 R, & G 3T fRIem=ar gcidiict hiep Je: el
3N SFTAINCT TREPTES Bl SRAAT, DIVRATE AT 3M0geh aRIHI ¢ AT T SRAUT=AT Thul
T ST (AT AT BIRIDPT) IR 3eicd] YT AT 3MM0gh aRHAMIER SRadTd. A Al
TG SNfiieh T SRV He AT ehraT UehHepiell STV HHIUATE! faaR dhelell SR,

STU[ET TRGHIFTEAT UhahTTST (u) g aTRaTd. 9 u = 9.§€04803 X 307 RV kg (kg = fretnim). frem
37U IRGAT 00 u 3ATE TR M 9 u 3. W, AT IR AMVID AR UK 00 u /
0.0 U= ©.£9, T PG e GATeIT TUIRI o ATl BRT, (99.3 g/lem3) / (.90 g/lem3) = .93,
g OR TT G ST Fhichicliel ST Sicid I ST {IRumTe SidRaT RepHes aid IR,

PIIT-9 U1 PIETA FHEATDRAT FHid AUhGDr dRGAH HISlel ST, BlIT-92 8 qC 3™
ferfauar ugd oM. (PIETAT qoC 1 FHRATNDRAT SAUCbGIPHE FaT ek M0 Al Yg I,
BT SR FHRATDAT IUhGI ST WIS HEd el TRl g ! el HHISTUS 3Rd) TR TR A
AR IR AT SUpgepIerd AMTdeiel 3RAd. qo C o MU aRgHM sRISR 92 u RIS TD UIe
3T i g™ gAR 9 u BN

P9 TS 92 g VIl SR RO IR PIVATE] ST F=RITe (AT 370,
U], SR PN U Siae TRl A1) 4 mol 3R FgUIAT. 9 mol Teehtd g 31’ 3Rdel B fhar g1 ‘9’
3R 1, QRIS T ShuTl SRedT A R, JANTIT 311 g affel 31ie &, ahorrea Sl & fobma,
STl SANTIgT HReT TgUralTe, off Ny 3reft gefaara. forht foma

NA = &0RQ939 X 903 particles / mol (9 mol TIME TPUT §.029309 X CERE: HUT) A

9 mol HE- 92 3T IRIA SRISR 92 I IR, TG FANG! HEAT SRAeHeAT 37T, PIUIATE! ST
9 mol THeId SRIVIR 37U GRgA™ IHed Seifdel ST, IeTeRuned, 9 mol Arg (iU avgA 4Y4.¢Y u)
T FRGAM 4Y.¢Y F7 (30T 9 mol AR IRIA Y4.¢4 g/mol 3 fefear) TR 9 mol RRY (anfoaes awgam
200 1) T IRGAH 200 I (AR TEIHF 01 g/mol) 3R feifdet . HROT 9 mol ST TGHIT §.03 X G033
HUT IR, T PIVIATE! SR Ul VAT RAMRIS! mgom = molar mass/Np 3R FHIER0T .
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ITERONeS, AGTAT 3TV aRAM AHRRUMT Yool SRafdel ST,

MFe = 35.85 g/mol = 9.28 X 10-23 g/atom
6.02 X 1023 atoms/mol

el agrfdt avar yiet e el o ¢

uaref gdT = (90 kg/m?)
= 1R.30

BNECL] 99.190

fary 99.30

GIES ¢.RR

g 0.¢5
fegfutism Q.90

Tafdrem 9.94

qroft 9.00

’drl 0,009

Read the following passage and answer the questions from 1 to 5 :
DENSITY

A property of any substance is its density P (Greek letter rho), defined as the amount of mass

contained in a unit volume, which we usually express as mass per unit volume :
__m

P \Y%

For example, aluminum has a density of 2.70 g/cm?, and lead has a density of 11.3 g/cm®. Therefore,
a piece of aluminum of volume 10.0 cm?® has a mass of 27.0 g, whereas an equivalent volume of lead has
amass of 113 g. The difference in density between aluminum and lead is due, in part, to their diffetent
atomic masses. The atomic mass of an element is the average mass of one atom in a sample of the
element that contains all the element’s isotopes, where the relative amounts of isotopes are the same
as the relative amounts found in nature.

The unit for atomic mass is the atomic mass unit (u), where 1 u = 1.6605402 X 10-*" kg. The
atomic mass of lead is 207 u, and that of aluminum 1s 27.0 u. However, the ratio of atomic masses, 207
u/27.0 u="7.67, does not correspond to the ratio of densities, (11.3 g/cm?) / (2.70 g/cm?®) = 4.19. The
discrepancy is due to the difference in atomic separations and atomic arrangements in the crystal
structure of these two substances.

The mass of a nucleus is measured relative to the mass of the nucleus of the carbon-12 isotope,
often written as |, C. (This isotope of carbon has six protons and six neutrons. Other carbon isotopes
have six protons but different numbers of neutrons.) Practically all of the mass of an atom is contained
within the nucleus. Because the atomic mass of |, Cis defined to be exactly 12 u, the proton and neutron
each have a mass of about 1 u.

One mole (mol) of a substance is that amount of the substance that contains as many particles
(atoms, molecules, or other particles) as there are atoms in12 g of the carbon-12 isotope. One mole of
substdnce A contains the same number of particles as there are in 1 mol of any other substance B.

Experiments have shown that this number, known as Avogadro's number, N, is N, =6.022137 X
10 particles / mol.

Avogadro’s number is defined so that 1 mol of carbon-12 atoms has a mass of exactly 12 g. In
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general, the mass in 1 mol of any element is the element’s atomic mass expressed in grams. For example,

1 mol of iron (atomic mass = 55.85 u) has a mass of 55.85 g (we say its molar mass is 55.85 g/mol),

and 1 mol of lead (atomic mass =207 u) has a mass of 207 g (its molar mass is 207 g/mol). Because

there are 6.02 X 107 particles in 1 mol of any element, the mass per atom for a given element is
m_ =molarmass/N,

For example the mass of an Iron atom is,

M, = 35.85 g/mol =9.28 X 107 g/atom
6.02 X 10* atoms/mol

Densities of Various Substances :

Substance Density = (10° kg/m?®)

Gold 19.30
Uranium 17.70
Lead 11.30
Copper 8.92
Iron 7.86
Aluminum 2.70
Magnesium 1.75
Water 1.00
Air 0.0012
9)  TEEIRGGCAT U AR GG RAd: AT Yalel DU Tehid 3. ..
31) AeH ) g ®) TAaeH g) RNl 94
gl S :
9) %eh 31 ) Teh 31 37T § 3) Bh b ¥) Heh
1) Practically all the mass of an atom is concentrated in its
a) Protons b) Neutrons c) Electrons d) All the above
Answer Options :
1)Only a 2)Onlyaandb 3) Only ¢ 4)Only d
2) @il FIvI! [3ET aviav e ?
37)’s" & Vapap PITRITE] Gerd GegHT GO,

g) D’ & VPP g FeRvrard aravee.

&) Ny’ 8 Ve Vel Flereller 3 Vepeh avgrT qoffac

) Mole’ & 7@ Tk 90 X 90 X 90 meter IR TG eThUIIS] SN SO,
gl G -

9) 37 3T § §¥IaV 2) F M §avisy  3) 7 §¥IaV &) G g

2)  Which of the following statements are true ?
a) A unit '4' is used for mass of any subtance.

b) A unit 'p" is used to show density.

¢) A unit N, is used to show mass of atoms in a mole.

d) ‘Mole’ is-a unit used to show the particles in a specific 10 X 10 X 10 meter volume.
Answer Options :

1) a and b are correct 2)c and d are correct 3)All are correct 4) All are wrong
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3) PP THHIT TFAT SIUMRAT ARATIRIT AT AT SR 0.Yo kg. =T FHM oM QF e
(TQ) Fat T
q) [IATET T TlATET HIST e,
Q) HAINITET MedT TAeATET T .
3) 3l M STBRM FHM BIciia.
8) AT T ATl Jorid SRISR R.3° e RN B
¢.R%
3) According to densities given in the table, if we prepare two spheres out of Gold and Copper each
of a similar weight of 0.50 kg., then
1) The Golden sphere will be bigger than copper
2) The Golden sphere will be smaller than copper
3) Both the spheres will be of same size
4) Golden sphere will be exactly % times than copper
8) ' mMer & fFAd qéler drore el FwmnT 3me ?
3r) 92 I oMl C-92 T 3] 9) €.023936 X 9033 UL (IS T
B) Y4y.¢4 I9 goFrR Fe ) 9 cm3 STHRAFT SHUR PDIVITE TSI THUT 370
Tt S :
q) 37 affor § ) § affor & 3) P T S ¥) § ST o
4)  Imoleis equal to which quantity from the following?
a) 12 grams of C-12 atoms b) 6.022137 X 10* atoms (of any material)
c) 555.85 grams of Fe d) atoms of any material in a volume of 1 cm?
Answer Options :
I)aandb 2)bandc 3)candd 4)dand a
y)  SYaNTe) v & el Tt weiftr ar.
9) T yerRaE 902 Hiex qefiet T,
R) PIUATE Y 9 I Aefie e
3) 9 mol THid PIUTATE TSI AU FeET
8 ) WETET yerifeAT St aRgHHTt 902 Fameiict C- 93 FeigaaTier et dretell Jor.
5) The Avogadro number is related to

1) Density of a.substance in 10* m
2) Molecules in one gram of any material
3) Atomie particles in 1 mol of any substance

4) Atomic mass of a substance in comparison with 10° grams of C-12 atoms.

als
%@

Jeiel IART T TR STUTRE & o 90 FeATH IIR & :
TTURIfhAT Ut ST (ARSI ) TetraT ol ITnT! Pral fafere, el aacive sewsrm=T

3T TUh INATAT ARG JATRID (FARIS) T FeUIT. ATURU: ST FIANIRIT € Al blael
I ; T IR ATg @ et S (SereRune Tt fhar dieR) ; URg N dret JYAGE! 31ed. Sal.
Rt dd S T HAURIT Bledld. g Jdf SR Jed Sarea] HuId SgHe S 7Y@l Sgrel
Tefiie) A1Gdel ST, g e ffdY STe a-ddiedT Saarqd — Helid, T, @ISk, R, Bk,
<t FeT 3Tt quf SR Pieet ST, Plel ST WIS JaT TRl ATetld SRIUITIT Tig 3T J3URIT
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ST P g Al Pleel S

FTRY JATTH0r (ST Y 3fifeleg, Hepl, ARIT) IJATIRID del &l ARGl Riepe F9a1d. ot g
gaTh!, AR 31T 3rfarery st 219 ARFFT (31T, SR, JTcplalel, Afcegied, dhe-, exfu=a 3Mmfor
thrleT) SFelcl! SRAAI.

Tyffheqwed aToRuATd YT Tdep el detral Uep Wiy 3iiwel SuanT SRicll. Jgaier dof & M
gfieue A, Sit erstaruel AT aRAId. SR a-d dof & Ao SV 9id PRUIRITS fohaT T bt
PRUIATS! fohaT dgAT / SUThT IHUITATS! dd el WY SfaIaITa! 3Tl HXIRITS ST RTINS
T FNT PRUIRATS! TURA.... & TGt 7 FHUUIRY 377,

TG el & AgH! AR o] cerdaR eldedl ST SIaT glief! ST, IR plel Tefifdhedr TRTaR
g Od distaTe e RN, JIeed SRIE- [darg oig. Jfthep faRic & Ao derbr sreraT gamedt Som=a
T e FERIT ey Aeam e 7. 81 del AIpIaTe giul ST IRIRTER 1% AUl &l STelg JAT0T
URUIMTBRS T Uga 3Te. il derr Jesult Ul 3T g RO (WRg 7 fesar) FaT FRIerd 3/,

ST Il T Hgwara 0T Ul o o] 9d ORTd aRd feRud ST ol Ieharer fiasl.
AT g el o URUTHGRS M aRd. URg &l ol IR die FaouTd] SRIANT gUd A et orar
IR TGl S AATRId. gl el HgoTIul a e daATd (JToame Tg)). fiesdId. s T aR Aed, THs
3T AT T AISEHRIAT AT STl TEIRh WIS & f9g 3t 3 &, @D et & ATpH
AR FTcTeRIT EsT0r Jehe HRFsdld, foider dgstar diely Sal iy fo-fesd 18K,

Read the following passage and answer the questions from 6 to 10 :

Aromatherapy is the use of essential oils for their therapeutic properties. An essential oil is a
highly odiferous substance found in particular aromatic plants. The oil usually bears the name of the
plant from which it is derived, for example, jasmine or lavender, though there are a number of exceptions,
such as neroli, which is extracted from orange blossom. The oil is stored as microdroplets in tiny sacs
or glands. According to the species, essential oil is obtained from the flowers, leaves, stems, roots,
fruits or seeds, and sometimes from the whole plant. Certain barks and woods are a source, yielding
gums and resins from which the essential oil is extracted by distillation.

Essential oils are not greasy like vegetable oils (for example olive, corn, soya). They are light,
volatile and made up of complex mixtures of organic chemicals (acids, esters, alcohols, aldehydes,
ketones, terpenes and phenols).

Every essential oil used in ammatherapy has its own specific healing properties. Most of the oils
are antiseptic to some degree, and will combat micro-organisms. A number of oils can be used to calm
the nervous system, others reduce inflammation, or ease aches and pains, benefit particular organs and
systems of the body, uplift the spirits - the list could go on and on.

Essential oils are usually diluted and applied to the skin, or inhaled. However, some schools of
aromatherapy advocate taking essential oils internally. There is considerable controversy srurounding
this. Personally, I think it is safer not to ingest essential oils unless directed by a qualified herbalist or
herbal medical practitioner. External application and inhalation are usually considered faster and more
effective methods of use than ingestion. Mouthwashes or gargles are also safe, provided they are not
swallowed.

An important characteristic of essential oils is that they quickly penetrate the layers of the skin
and enter the bloodstream. They are, therefore, fast-acting. But the oils are very strong and not generally
applied undiluted to the skin. As they readily dissolve in fatty vegetable oils (not in water), they are
conveniently used in massage oils, creams and lotions. Clinical tests have shown that essential oils

MPSC - JISaWaT gd o¥tefT : 2093 ggf otem 9mR-2 / 4




enter the bloodstream more quickly by inhalation than either through the skin or orally.

§)  WTefierddl Proft FERIT hear Jrmaeded (SRRIST) delrd Haw ol R 3R ?
q) Tffdheaen ?) Jfarférd g 3) R g 8) deErRbRI Togl

6) Who amongst the following can direct the safer ingestion of essential oil ?
1) Aroma therapist 2) Untrained herbalist 3) Trained herbalist ~ 4) Medical practitioner

V) geh G @RI aRom degr Rard Siel...

q) TP SAlEell S Q) glel! ST 3) vt Pefl STTg) I HRUFRATS! IRl STTard
7)  When are the essential oils fast acting ?

1) Applied externally  2) Inhaled 3) Gargled 4) Used as mouthwash
¢) TROd A,

9) eIl IRAATT ) IIRR 3RAATT 3) % IR A 8) IUTRARKT SRAATT
8) Vegetable oils are ......

1) Light 2) Volatile 3) Made up of comPlex chemicals 4) Greasy
R)  IIETD TA B ... TRU H1Gdel I

q) e o o Q) [gew ¥ =™ 3) Tl U 8) RIel T FHRIT
9) Anessential oil is stored as ......

1) Tiny sac 2) Microdroplets 3) Glands 4) All of the above
qo0) ''Hd SRS T A & AT G5 ATSFAT AT 3dell ST, g aTe

q) guf I 3. ?) TUT IR 3R 3) e I IR ) RIS Tepgt ATer
10) "All essential oils are named after their plant of origin" - This statement is

1) Completely true 2) Completely false  3) Partially true 4) None of the above

2 Yeiel SART AT TaR STETRA 99 o 9y T SR e :
STeTTT (9¢03) RGN W 5 € TTg g dhulil gvietel MR, T ol Mo ol
T

TR S S AT (9¢qV) W GRS Tfigdia @ STft e Hiselt i MR Solag ¢
YITARYH i (Gel) AL delel 3MMed.

HERBIET (9%99) AU TRINGR AToAaT SRIGT Wigd Pieell. TN Ol-Forr (4oHe o
3TUcheeh) JavuATeR H&TUT el ST JTel Jeiel aTdl 3Teasy STTe.

o TTHA OL-PU T AT RS RUR e,

® DTE Ol-PUITT PIEl DI fadrer Flel.

® TRT Ul (-0 JAUTHR 3T U=a A e Iafe et

e : STULE e TEUISTT BTG & SR g, HRIg SMTOT ST TR 3T, ST gtds, SHUMHRYh
TS ¢ SThGIIIE SRR Tl DAL GRYHUN AT

TafeT : HEHL THRUMRT JHIRG, TR Selag = 81 Sl Scafoid PR SRICATS Tl §oge, SUhaIhs
TART IR SMOT et STcheeped ffid gieel. Jur 3/ gIaT o 1al. Selagiad fafde werme faaRo
3fr it St ar M saRa e,

et oA faoiar e S (9332) FERBISHN S eieT GURT FafdedT.

o SRI SUhGHTHIA QU HET RIS TRI Selag MIead AN BT IRYHU P A,

® Soiggi=d g Uepl (IR el ST (R Sald ISt JIRe AT, IR QI har et STRIT o Jehuol
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AR AR 31 fhaT aTeR S19s Arepd ATRId.

® IoigeH IT AN HAhTuTTed fAfde Sort anvdrd fdsar ScAftd avard.

defde (9%3R) THRRIET o1, T oY ATaell. g R ITUhGeId Mici Alecd SRIAl 37T
IRIAT STIURT Tl e Sadd 3R,

R ST Teh 3TUcheeh ST ST STU[RTHh (WITI=T AT i) AN, Seldai—4 g ShaepTHIac!
e a1em ey URYHT PRI, TR ST g 8 YHRRRT A, Dl S JAUDheSd el I
HerRF (MDD +) ge FUR 81 fohal aTeed Selded 8 3FRF (MD -) 78 HUR aXd.

ST ST haT IR STUhGPTIRIT dTed ST o)1 O T &Il fhdT ST dad shHIh : n = 9, R,
3, 8. o S anfor & e K, L, M, N... 3dd 3R FUTIIT A, YD PR SR STRT
gelagad! v 2n2 A1 e e el S,

RIS Z ST SHHTel Wieiadl Aver Seifadl STifor SuaRgHieD, A S Suardeid den geifadr,
a7 Qe M ferg™ qiommm TeRia dea .

A

HeTcearl dsil

Z

Read the following passage and answer the questions from 11 to 15 :

According to Dalton’s atomic theory (1803) ‘“Matter is made of indivisible particles called atoms”

SirJ.J. Thomson (1867) in his plum pudding model proposed that atoms are made of negatively
charged electrons embedded in a gel of positive charge

Rutherford (1911) overturned Thomson’s atomic model with his gold foil experiment. He beamed
O(-particles (*,He nucleus) on a thin gold foil and observed :

® Most of the Ot-particles passed straight through the thin gold foil.

e Some of the Ol-particles were deflected by some angle.

e A very few Ol-particles bounced back towards the source.

Conclusions : An atom has a tiny, dense, positively charged core called nucleus. Negatively
charged constituent with negligible mass called electron revolves around the nucleus at distances in
paths called orbits.

Limitations : Electron being moving charged particles should continuously emit energies, thus
keep moving closer to the nucleus and finally drop into it. But this does not happen, And also distribution
of electrons in the defined orbits and their energies remained unexplained.

Nobel prize winner Neils Bohr (1922) revised Rutherford’s model as follows :

e Though there are many orbits, electrons are confined to only clearly defined orbits of fixed
energies.

e Electrons could jump between these defined orbits but could not freely spiral inwards or
outwards in intermediate states

e Electrons must absorb or emit specific amount of energy for transition between these defined
orbits.

J. Chadwick (1932) discovered a neutral particle called neutron present inside the nucleus along
with the proton and having a mass same as that of proton.

Thus an atom consists of a nucleus which contains nucleons i.e. protons and neutrons and electrons
revolve around it in fixed orbits. This is an electrically neutral atom which can lose one or more electrons
to form cation (M"*) or gain one or more electrons to form anion (X"").
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As the distance of defined orbit increases from the nucleus, the orbits or shells are given shell
number,n=1,2,3,4, ...... and are respectively called K, L, M, N, ...... shell. The maximum number of
electrons in each shell is given by 2n* , where n is the shell number.

The atomic number 'Z' i.e. the number of protons and the mass number 'A’ 1.e. the number of
nucleons can be represented symbolically as follows :

A

Symbol of the element

Z

99) HRDISAT JAUUHT TN Teh FRIGT. " 'PIel OL—HoId Pl DT e Aol T HRIT OL—p0T
37) SA[hGehTAT STae AT

9) Solqc-ads MBI 3Tl
P) SeldclaaR adel.
R piord /o e /3 sRIsR 3me /3.
gt SR :
9) %eh 31 ) Bh § 3) Bh B ¥) § 31T &
11) One of the observations of Rutherford's thin gold foil experiment was "some Ot-particles got

deflected by some angle". The reason was O(-particles.

a) came closer to the nucleus.

b) were attracted towards electrons.

¢) collided with the electrons

The correct option/s is are

Answer Options :

1)Only a 2)Only b 3)Only c 4)bandc
92) HEXHISAT TINT DO FRperr o g aftigd! ame Feeiol. aTeiagsedT 1eed 31 ?

37) IEAI OL—PUT T AR AR IRUR e,

) PR - PIET PHIT e e,

%) BRI Al OL—PUT JAUTIR 3T U=a Area (e Ieae e,

Tt Sw

9) %h 31 ) Bh § 3) Bh B Q) o, § o1 &
12) Which of the following observations of Rutherford's experiment is impossible to understand

scientifically with the plum pudding model?

a) Most of the Ol-particles passed straight through the thin gold foil.

b) Some of the Ot-particles got deflected by some angle.

c) A very few Ol-particles bounced back towards the source.

Answer Options :
1)Only a 2)Only b 3) Only c 4)a,bandc

93) ATET THIAR Wlefictieh! PIUK AU 37ee SR,
37) STUUE ITAT PCRITd PRAM PH 3. d) AU AT AR DRI PBHI SR

&) STUMET AT BERITI SMBRAM SR 3R, §) AU[UET AT AR SAHRAM SR 3T,
g IR :
q) 3f 3mfor ¢ ) P M s 3) 3r 3mfor § ) TRITUDT PIucgr AT
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13) Using the scientific logic, predict which of the following statement/s are correct?
a) size of the cation is smaller than the corresponding atom.
b) size of the anion is smaller than the corresponding atom
c) size of the cation is bigger than the corresponding atom
d) size of the anion is bigger than the corresponding atom
Answer Options :

I)aandb 2)candd 3)aandd 4) None of the above
9g) 9&S3 I emEd, ‘M’ Pl ... SIS R,
9) Q) & 3) ¢ 8) 9%
14) The number of electrons present in the 'M' shell of 165" atomis .....
1)2 2)6 3)8 4) 16
94) 31’ TCKiA TTHMHT '’ eI ThMIET SR sRIsR G SUeTed 3R b,
Ia.l TIE Ia.l 113
1) 90 e 37) 2°qoNe
11I) 92 == ®) 13gFO
Tt S :
Q9 I 31 Q) 1 < G 3) 1 A &P, %) I 3,9,
n s n s In s n s
m s,3 m s,3 m 9,3 m s
| \ARC: [ ) v 3 vV 3 o vV 3,49 5
15) You may have more than one correct match in Group 'B' for each item in Group 'A’
Group A Group B
I) 10 electrons a)* Ne
1) 12 protons b) = Na®
IIT) 12 neutrons c) 199F®
IV) 10 neutrons d) > Mg*®

Answer Options :

1) I a 2) I a,c 3) 1 a,b,c,d 4) I ab,d
I d In d I d n d
I b,d I b,d I b,d Im b
IV a,c IV a IV a,c IV a,b,c

2

% JOIel SART AT TR MR 9§ T 20 T JTR T :

Teh TefR e I AUTRT YR 81 UehHd S2T ATaT SR TV f4eaTehs GET Srehed =i SHTIedTell Ueb Tafi
TR SR IR ISRV AU e, WG AR gaed M0 3R STl el qeRamed Hgwayul Hieh ol
AP TSRS Ueb Uafi arearell Wil SaR ST fovgT . PIat el S, =, RgaT ot RiRame
AT ek TehT T8Il HYOT GeTaR AT SRuaTE URaTHIT feft 31T, ral SR QML S =R, T3,
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o anfor SRcam e PRIGR oftT st SURIge Te vefl 9 gvreer gy . el auigd i
nfeRTep!, SfaT IRAT, Ja & Thualy gHRe SRIUIRY IS BicH. HRATNE PRIKT UaT aevd g 3oR Sedar
1 21 BRUT T SABcATHD ITATERUITT HTH $Tel. Jeh 3707 Frsuer arameRunciiel Fasuhimed 3 JSTh ual
TR B aget. ST AR Fasue orpudTd i Uel JeRa SITell. JuitgreaT SidToR SfaT 3Tfihhd
SMRehT ~1eFIeT DI o JIvd UTH $Tel, el Jrdt |AraaT g,

Fral auigdl B ged anfoT fRieh "afty g J=ame AIcAT JHIUIER. UhHDIHRT A= gl
AT GINUHTR 37T U2 A1afie FasuHaR T R 3ART TRBRAY . 3fdsdhR AT
SATIYNATG, JRESTRIREET faRTet e dhiaeHe e g,

Read the following passage and answer the questions from 16 to 20 :

India is not the only country to have experienced the dominance of one party. If we look around
the world, we find many other examples of one party dominamce. But there is a crucial difference
between these and the Indian experience. In the rest of the cases dominance of one party was ensured
by compromising democracy. In some countries like China, Cuba and Syria, the constitution permits a
single party to rule the country. Some others like Myanmar, Belarus, Egypt and Eritrea are effectively
one party states due to legal and military measures. Until a few years ago, Mexico, South Korea and
Taiwan were also effectively one party dominant states. What distinguished the dominance of the
Congress Party in India from all these cases was it happened under democratic conditions. Many parties
contested elections in conditions of free and fair elections and yet the Congress managed to win election
after election. This was similar to the dominance that the African National Congress has enjoyed in
South Africa after the end of apartheid.

In the early years there was a lot of mutual respect between the leaders of the Congress and those
of the opposition. The interim government that ruled the country after the declaration of Independence
and first general election includes opposition leaders like Dr. Ambedkar and shyamaprasad Mukherjee
in the cabinet.

9¢,) PIUF Y&ITAT JIRARIT BRUN PIUIT 3T ?

31) I THART IRAGR ) FIFHS T

%) IPpE Hafed udl ) HifdRt Agd

3) T anfor grem

Tt SR :

9) Bh 3, 9, B Q)P P, &, 3 3) Bxh 3, B, 3 8) Bh ¥, 8, S
16) What are the reasons for the dominance of Congress Party?

a) As inheritor of national movement b) All inclusive nature

c) Excellent organised party d) Revolutionary Leadership

e) Money and Media
Answer Options :

1)Only a, b, c 2)Onlyc,d, e 3)Only a,c,e 4)Onlyb,d, e
99) IV IART PIUTT IroTehiy germefy Fefdrd armg ?

9) BRI (3) ?) B () 3) B (3MR) 8) R T B
17) Which political party is related to the above passage?

1) Congress (I) 2) Congress (O) 3) Congress (R)  4) Indian National Congress
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9¢) AR FHF / P 3N
37) HIAUFTGR URATRIT UTH Tehel IoThid T8l SRAUR <27 T 37IOr e 3Tl
) TSyt PRUMTIT SMUR Teh U&l SRR <97 3ford omfor gRfcam amea.
®) AIDATE AR Teh IThR YefiT o SRIUR <91 URd 3Mfor gféor amfthest armed.
gt SR :
9) %eh 3, o Q) Wh 31, B 3) Bh §, B ¥) TRl T4
18) Select the correct statement / statements :
a) Constitution permitted single political party countries are China and Cuba.
b) On the basis of military reasons, the one party states are Egypt and Eritrea.
¢) Under democratic conditions, single dominated political party countries are India and South
Africa.
Answer Options :
1)Onlya,b 2)Only a, c 3)Only b, ¢ 4) All of the above
Q) BT, HIFRIE 3MSEHR M1 ATIINAG &Sl g Do faRielt ger = g ?
9) 8. 3NeSPR — FHNIART gre
AMHTIRATS, JESil — ARG SA™
Q) Sl JAESPR — ASYA DRT hexeH
AMHTIRATS J&Si — ARG ST iet
3) Sl JMESPR — WA HoR Y&l
STHTIRATE, HRgoil — fag Agrr
8 ) Tty el
19) Dr. Bhimrao Ambedkar and Shyamprasad Mukherjee were leaders of which opposition parties?
1) Dr. Ambedkar - Socialist Party
Shyamprasad Mukherjee - Bharatiya Jansangh
2) Dr. Ambedkar - Scheduled Caste Federation
Shyamprasad Mukherjee - Bharatiya Janat Party
3) Dr. Ambedkar - Independent Labour Party
Shyamprasad Mukherjee - Hindu Mahasabha
4) None of the above
R0) R IAITIER U Ui Jeardl PHROT PIore 3TTed ?
37) dAfder e TRal  §) Tl IO P) AR ISTac g) PRI T
Tt W :
9) eh 3, &, b 9) Bh 3, &, $ 3)Bh A, P, S $) Bh &, P, S
20) What are the reasons of one party dominance, according to the above passage?
a) Constitutional Provisions b) Military Revolt
¢) Communist Regime d) Failure of Democracy
Answer Options :
1)Only a, b, c 2)Only a, b, d 3)Only a, c,d 4)Only b, c,d

% JoIeT SR AT TaR IMUTRT 9 T Y T Iax & -
fAromeT RIS AISvarT BRIghH Jat H Hig=aTd Ve fIedaR BiRT BRIGT STfawRI BrRIC Aieuart

I g Tdet. JTHI0T RIS HTORAT STUIRAS! ST, STHTER ST STt a1 i Ml TRST S1Adt. St
RNECId A¢gE TR ST 3 Mt efcel et JRMRT ST IR IRUIN, Tad 3718 AISUaRT #15
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FRUITT 3MTell. TG SMCARAT STEUIRAS! FIhShIC], Hhes, TRId! aRR&TpTE! ok b Mo T
IRTd. ST PRI ST RAQlSaeTdl A TNt MR SRIEMHIUY STiai Hrg
HIgd T HifgH! TH 930 =T JeluRd arefaudrar ol SudTd 3ifefl. 3feaeTR Rieadidl TR a
3FPlet g NI &l Tdcs PRUIRT P & SRalel 3 STl MR AfTHeT et 3nfr ford g sriier
AR JTSTITT 3ol IAPVCR HERI, Tl U ST SfiuTg efa AR g fofer a1 Fmigrd GauR gkl
ARG 37T YadTeps AU ST SRS FaR TFT U5 DI SIER el AT AR Tebcief TEHOTe
Sheft, shfaRT IRCTS, TS AT Aita! WHT SdeT ST BRIERT IR, 2 Sef 48 30 STt TR SMTOT 37epret
IR 3VTe Yebreefean feaeft wprd aedl 20-22 ol W axvard el PR ST gkt
TR STt AT AT TR BT, PRIGHT BRUTIT 3T PRUITAIS! UIet™T e, TR ESTRI Al T
RISy PRI RIIT FRE 9 IGYR) I AIETd I1 Weaid e,

A1R1e RTeRIT FCTUT, STV, SHesavl AT Sitlel FAWE SIRT BIT. JIGRITRS e, Fed HIdRMINT
30T bcite} AeHuIeTelt Sieft g SNl e W -id gkl S g a) Sirerar ued, defid diet a
IR ¢ SRS SivTel AN 3igel Tot. TTIRISAIC! dlgelell PR AT agdl PO FRBRT AT
SIS BIS ANTel. AL UlfoRATETe! T T IICHTAT STIel. § ST IR HeTds I SiTel AIRIE
FRUIIT AT gl T TIRI ATH TR STt 2. oTar BrIg SMfll Sileflegerar BrIal Aguarea
BRIHATIRS M ST HeFQrea dlcHe TMoteled] Sadh-ai-! AIGaT FHIUIER Mg QeI ST i
U, TN T Fesaadia wefiel der Fegdl.

Read the following passage and answer the questions from 21 to 25 :

After implementing the programme of ‘breaking the salt Tax Law all through the month of May,
Congress workers undertook the programme of breaking the Forest Laws. People in the rural areas
need three things for livelihood - Land, Cattle and Forest. Under the British rule, a number of restrictions
were imposed after 1866 on the use of forest. Grazing cattle, cutting of grass and trees was forbidden
in the protected forests. Consequently, firewood, fruit, herbs could be collected by the tribal people
only by deceiving the forest guards. Considering the unrest about the stringent Forest Laws, it was
deceiving the forest guards. Considering the unrest about the stringent Forest Laws, it was decided that
from July 1930 onwards the programme of Satyagraha would be expanded beyond the breaking of Salt
Tax Laws to breaking the Forest Laws. The Jungle Satyagraha Committee felt that Sangamner and Akole
Taluqas of the Ahmednagar district would be favourable areas for this movement and hence, its main
office was opened at Sangammer. The three leaders of this Satyagraha were Ramkrishnadas Maharaj,
Lalji Pendse and Shripad Shankar Navare. Navare published a pamphlet declaring that they were now
moving from the Sea the the Mountain. Tarkateertha Laxmanshastri Joshi, Shreeniwas Sardesai and
Bhai Sattha also participated and were jailed in this Satyagraha. On 22" July 1930, on the day of Ashadhi
Ekadashi, Satyagraha was organised in Sangamner and Skole Taluga simultaneously at about 20 - 22
places. The Forest Satyagraha had reached the Talugas of Kopargaon and Rahuri as well. It was a sight to
behold when the police reache the villages of Chandanpuri and Savargaon to arrest those who broke the
Law - thousands of people had gathered to oppose them.

In Nasik District, Jungle Satyagraha was carried out successfully in Satana, Baglan and Kalvan
Taluqas. The chief leaders in Baglan included Dadasaheb Gadre, Mahant Seetaramshastri and Tarkateertha
Laxmanshastri Joshi. Dang is the area of forests. The Koli and Thakar tribes were also drawn into the
Jungle Satyagraha. It became difficult for the government servants to collect the Forest Grazing Tax
from them. They were not terrified even by the armed police. On 5" August, a Jungle Satyagraha was
organised at Bhilwad in Baglan, wherein thousands of farmmers participated. Already distressed by the
world's Great Depression, farmers extended their support like never before to the programme of

Satyagraha to break Salt Laws and Forest Laws.
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R9) A TR T YU ARRIPGT TdIhs ST RIS SIER e
7 graaTar 3ref BRI gl ?
q) T RGBT SR 2.
R) T A IRUSIURT SR Heemuid U HIGUIR &,
3) AAWER g ST TG SFRIS HNTA STcihs STUR 8.
) aRieTdhT ThyuT HTEl.
21) Mr. Navare declared that they were now moving from the sea to the mountains.
What does the statement mean?
1) He was going on a pilgrimage.
2) He was undertaking a march on foot from the coastal areas to the mountains.
3) The centre of Satyagraha was to shift from the sea to the mountain forests.

4) None of the above.
Q) SIS el
37) fretas 1) SATeT I Aot
g) S IT) 7gq HaRmemst
®) AR III) BB T ST
$) NI IV) BRI ATDITT FgHNT
it SR

@ @ @ (3
9 I I NV IO

DIV I I II

3) 1 m v I

w) IV I I 1
22) Match the pairs :

a) Bhilwad I) Jungle Satyagraha Samiti

b) Dang II) Mahant Seetaramshastri

¢) Sangamner IIT) Koli and Thakar

d) Baglan IV) Participation of thousands of farmers

Answer Options :

a b ¢ d

) oI I v 1

2) v I 1 II

3)) 1 m v I

4) IV oI 1 I
3) Yo USRI BIoThH IS AlfedJdR Hisl.

3N eds Aamg ) frsmn Iawg

P) S AIWE AR PRITGT TR TG, ) SiTS RIS FIULH TS 3.

9)8, ¥, ®, A Q)E, A, P, d 3) A, %, 8,9 8) S, B, AT
23) Arrange the event chronologically according to the passage

a) Satyagraha at Bhilwad b) Salt Satyagraha

c¢) Opening of Jungle Satyagraha Samiti office at Sangamner’
d) Forest Laws were first implemented.
1)d,b,c,a 2)d,a,c,b 3)a,c,d,b’ 4)d,c,a,b
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28) JEBUD! DM AU IR RS ?
q) ST FATRIUET o AR Ademdiar FTe9RT 31fid gidl.
Q) TP T IEHSTR Nicaidie Ade=a Ferar Ml S Twgd Aedr gdel.
3) ST HEMGMR AdHAT SIS UG FAWE Todosid AN B,
¥) TRIGUDT THUuT TR
24) Which of the following can be considered a correct statement ?
1) More farmers participated in the Salt Satyagraha than the Jungle Satyagraha.
2) Farmers from Nasik and Ahmednagar districts participated in the Salt and the Jungle Satyagraha.
3) Farmers supported the Satyagraha movement in an unprecedented manner after the world’s
Great Depression.
4) None of the above.

RY) SAM fiedr AifRciawd qeieud! PIvrt faer aar JuR TTEr ?
q) S FAWE AT I PRSI FgIGHR eaid g,
Q) FeHUITRE! S Sie TR YN 80T g BRIENT TN,
3) 3MIEH Tehreefan fegeft pissl T aTepr ST Sl TIWEId FeHRT Hdel.
8) TSN, AR, Fieae Jefies AR SSIRI il diicaT gil.
25) Which of the following statements can not be made based on the information in the passage ?
1) The main office of Jungle Satyagraha Samiti was in Ahmednagar District.

2) Laxmanshastri Joshi participated in the Jungle Satyagraha and was jailed for it.
3) Koli and Thakar Tribal people participated in the satyagraha on Ashadhi Ekadashi.

4) Thousands of people supported the Satyagrahas at Chandanpuri, Savargaon and Bhilwad
% OIS SARMEMT QTER 3MYTRE 2§ o 30 WA S ol :

el faxreh praar 93¢

T 8T RUTTITET MIATEH SUATRITS! fRT8TT (hesH )

q) YRATT AU 9¢go HEA PBIEET Beod 3RS R YT, TaTe! hl Al S 3RS TR SR Dol weged
3FET STce R e FABI Hed posl, TR AT AchieT G S8, JTUaT SFHSY 3fef 18T gises o <ff SoT
SEEGR RIS,

Q) SR TR RRhM el SIUAmT RIeT Bl R 1A TITST Tee] 37T ST TG B=uM=AT
hIST SFSUT! fIel Bl oid ot <o SIdTeeR Ygio.

I PHARETS! JeIes P HedN ot [N HERT PRV P 3T TR ST

a) TETEr SlieT YAl fudsT /A ga gcit sRISR Siiaaqult STauard JfefdT Yo HudT, 3@l 3a)
AATSDT IR, FET Ul et Ware M FaT ax< IRIE o PRUIRT g vl I o T A-Riep
R 3T e SHaRATe! SRIGe! AT R fhal 3R HTél RIS vl FufF gar 7 Jumt

b) TN SHLE SyaT f[yaue SR fauRy FHfer o 6 e At Stvanes e, srEr forar g
U] STRIAT TR AIATShIoT ST ST BIVIR 37T FHdT T Ul § Poared] IARIIC! SR 37T,

c) TETEn fuaaT srEr Sier e Jdt AT faRT URd T SuaTE IR0 SU g Al SIToa
gl <ol

d) T fEREURhIT 9T ot ST waTel f[uaaT srar SieT Fdt o Mo vy 7ed vl
anfor foret forea ga ucliear waaxT Hed 3rRET ATdarge! Aled I =T,

e) STl oI SR ol G0l 37T T Uiehdd ST I SAeeTcies AHRATT Afhd TgURT o,
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f) TN fGuaeT siear e, St w&d: &1 ST Jiear Saauult fRe STudTaRd arfduarT TR
IR Mg, ASYRT FHI FROT 7Y@T RIS q FhR a1 1 PROATIRIT G0,

g) Wl U] el IMUIAS! B HIeT R SRACHes, R T AT HidIRId UG
FRUITAT T U1 JFdT T STSUeST AT oy,

AT SSRITPRUTATS! f2r81T (P Y)

T HRISTAT BSH 2(b) FHIUN A< ISADRUT IRUT IT FHeld SR Pl SRISR JaIos PeardTel FHIA gl
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i) Tl Al sedT FRAvhId AHIG gIvl 3rdT AL AHRWST &9 8T,

ii) At e PIURATET TP TRIR R0l ford el vl febarl st gofRT <o,

iii) Al NobedT hIaT I IS PRUIATS! FHRY MR PO,

iv) el NSedr egchrear AT aremT fordt Selt STae Ul Sea™, od SHR, el mwr awu,
3ET e AR ITUU 3ET SR PIUKIE! JTUPM IHRY, SIY AATd! SISl dosl STscs AT FHRIT
3RS R,

Read the following passage and answer the questions from 26 to 30 :

The Commission of Sati (Prevention) Act 1987

Punishment for Abetment of Sati (Sec 4) :

1) Notwithstanding anything contained in The Indian Penal Code, 1860, if any person commits
sati, whoever abets the commission of such sati, either directly or indirectly, shall be punishable with
death or imprisonment for life and shall also be liable to fine.

2) If any person attempts to commit sati, whoever abets such attempt either directly or indirectly,
shall be punishable with imprisonment for life and shall also be liable to fine.

The following act shall also be deemed to be an abetment for the purpose of this Section :

a) any inducement to a widow or woman to get her burnt or buried alive along with the body of her
deceased husband or with any other relative or with any article, object or thing associated with the
husband or with such relative, irrespective of whether she is in a fit state of mind or is labouring under
a state of intoxication or stupefaction or other cause impeding the exercise of her free will;

b) making a widow or woman believe that the commission of sati would result in some spiritual
benefit to her deceased husband or relative or the general well-being of the family.

c¢) encouraging a widow or a woman to remain fixed in her resolve to commit sati and thus
instigating her to commit sati;

d) participating in any procession in connection with the commission of sati or aiding the widow
or woman in her decision to commit sati by taking her along with the body of her deceased husband or
relative to the cremation or burial ground;

e) being present at the place where sati committed as an active participant to such commission or
to any ceremony connected with it;

f) preventing or obstructing the widow or woman from saving herself from being burnt or buried
alive;

g) obstructing or interfering with, the Police in the discharge of its duties of taking any steps to
prevent the commission of sati.

Punishment for glorifcation of Sati (Sec. 5) :As per Section 2(b) of the Act, glorification in
relation to sati; whether such sati was committed before or after the commencement of this Act, includes,
among other things :

1) the observance of any ceremony or the taking out of a procession in connection with the
commission of sati; or
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11) supporting, justifying or propagating the practice of sati in any manner; or
111) arranging of any function to eulogize the person who has committed sati; or
1v) creation of a trust, or the collection of funds, or the construction of a temple or other structure

or the carrying on of any form of worship or the performance of any ceremony there with a view to

perpetuate the honour of; or to preserve the memory of a person who has committed sati.

%) Wl STUATHRAT Tee 1T e R Agd U=l &R IV HRIERATS! e 815 ?
) YR g8 e, acgo R) Wl (wfceer) rIeT, 9R¢w
3) BISERT Hfsham Sfa, a]u3 8) e T Ad
26) Under which Act, a person who abets, either directly or indirectly to commit sati will be punished?
1) Indian Penal Code, 1860 2) The Commission of Sati (Prevention) Act, 1987
3) Criminal Procedure Code, 1973 4) All of the above
) WSS BIoR H Fel Ufcrder HRITT 9¢o TT 3fehia ey ur s ?
31) faere et STUaTT Tt ol 9) freder It Soamn vl 9varg Aeq .
%) AT FUiIS DIUATE! FERAUCHIT AT 2o,
3) racuelt STesy HvaraT FHATRIT F&d: a1 F91d 6% g0 fAUdaT ¥ PRUATIRIT I,
i SR
9) 37 Heh Q) o1 3mfor § 3) F, S ¥) TS Jd
27) Which of the following acts are punishable under the provisions of ‘The commission of Sati
(Prevention) Act 1987 ?
a) Investigating a widow to commit sati
b) Aiding the-widow in her decision to commit sati
c. Participating in any procession in connection of sati.
d. preventing the widow from saving herself from being burnt alive’
Answer Options:
1) aonly 3)aandd 3)a,bandd 4) All of the above
¢) T (UREY) PRETGAR Jelisuh! DIV Bl Al SITUA HIATET QUIRT 7@l HERT UK FHoTo!
SHeies ?
31) At ST AT IRGUATAT TR RN UifesATe] HedTes] TSUDT SATUTT,
q) il S SR HEARw! SURRIT 8T Alshd AEHRT o,
%) Al NI g UchiosT SMefies HhRIST 8lee J1eR T [IedeT IRy Sariesr | ureo,
3) Sl STvaTE R fAUee 950, T uE T IRom <0, (WiTeT)
i SR
9) 3 Heh R) P S 3) WSUDh | 8) TRIBUDT PV ATl
28) Under the provisions of The commission of Sati (Prevention) Act’ which of the following acts

shall be deemed to be an abetment of sati ?

a. obstructing the Police taking any steps to prevent! the commission of sati’

b. being present at the place where sati is committed as an active participant.

c. making a widow believe that her commission of sati will give spiritual benefit to her deceased
husband.

d. encouraging a widow to remain fixed in her resolve to commit sati.

Answer Options :

1) a only 2)candd 3) All of the above 4) None of the above
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29) Under which of the Section of The Commission of Sati (prevention) Act 1987, is punishment for

glorification of sati prescribed ?
1) Section 2(b) 2) Section 5 3) Section 4 4) None of the above

30) Wl (Ufcieer) rIET, 9%¢W T HEHIT YSIos fdumieR faR .
31) S Tobe ShidT Tt/ SRR TRUITATS! Tl FHRAR STRIST Ul 7gUIoT Hell R IGRAGUT T,
) At TS R Tt ST IR Sed™ T SRhid HieR et At Tk IRIaUT 3.

q) ‘31’ T ‘T’ Jel TP Q) ‘et Infdr ‘g’ gl SRR
3) ‘3 TP M T R g) ‘31 TR M0 ‘T TP

30) Think about the following statements in relation to The Commission of Sati (Prevention) Act,
1987

a) Arranging of any function to eulogize the person who has committed sati is not a glorification
of sati system.

b) Constitution of temple in order to preserve the memory of a person who has committed sati is
a glorification of sati system

1) Both’a’and b’are wrong 2)Both’a’ and’b’ are correct
3) ‘a’is wrong and.’b’is correct 4) ‘a’is correct and’b’is wrong
% YOI SR A JmER SMYTRA 39 34 HeA Iaxan:
ST hHAT
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Read the following passage and answer the questions from 31 to 35 :
Earn from Waste

Children frorn st. Ursula and st. Andrews schools.from Nigdi and Chinchwad ensured that 539 kg
plastic did not land into the waste bins and rivers. Susan Raj a social activist had earlier created
awareness by sharing the importance of segregation and making money from recycling waste. She said,
“Let us hope that all the schools start this small gesture, then the garbage bins will not have any plastic
waste. Every bit of the material that is not useful to us now, is a raw material, which should be recycled.”

The Lion International, PCMC area represented by president Ln. Vivek Naniwadekar and Treasurer
Ln. Prakash Kolpyakrwar spoke to children about threeimportant things to’be added to their basket of
values- respect for parents, segregating garbage and helping at teast one person to see the world through
their eyes.

Susan Raj from The Academic Advisors (TAA) explained in a simple way how to identify wet and
dry garbage, “All things made by God in the nature goes in.wet garbage and all things made by humans
goes into dry garbage. When our waste is mixed, it loses its value and when it is kept separately, it earns
money for us’” Shyamala Desai of NSCC (National Society for Clean Cities) shared few incidents of
segregating waste and its impact in reducing Pollution.

Lalit Rohit of Clean Garbage Management Pvt- Ltd. collected all the plastic and maintained the
record of the collection. St. Andrews school children earned [1 3548 while St. Ursulaearned [1784.
Rosie Sequeira, Principal of St’ Andrews informed that their SMS information system helped them a
great deal to collect plastics as all the parents are in contact with the school authorities through SMS
number.

Sister Sandhya, Principal of St. Ursula said that they would like to develop composting pit to
educate children on how to manage wet garbage, Shyamala Desai assured that she will help both the
schools to develop their composting pits.

Ln. Vivek assured that Lion s volunteers will help schools in co-ordinating this plastic collection
drive. They will cover at least 10 schools in PCMC area’ A recycler from Sonia Gandhi Udyog, Amir
Shaikh, explained to the children that he was very glad to see such large amount of clean plastic collection
and he would save lots of water and directly shred it.

This shredded material is then moulded into various products like pipes which are used in the
buildings and in farms’

Lalit Rohit also informed that this one act of collecting 539 kg of plastic has saved much resources.
Reuse saves money and recycling earns money.

He said, " [ 20,000 were added to the net national resources.
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Our PCM and PCMC must look into the possibility of getting this model into all schools and

grant them awards.”
39) SisdT BT
wy 1 Ty 11
31) FAH I i) T8 HORT RIS /e
¥) ofed Afed i) RIS SRF sexee ot &t . .
%) afie Fean iii) Srerfors TG
3) dRHA s iv) gt e SgeT
IR SR

@) @ @) (3
9 I NV I I
) M I 1 I
3) M I IV I
¥) I M I N

31) Match the following:
List I List IT

a) Susan Raj I) Clean gargage management

b) Lalit Rohit II) President Lions Intentional PCMC

c¢) Sister Sandhya III) The Academic Advisors

d) Ln. Vivek IV) Principal of St. Ursula

Answer Options :

a b ¢ d

H oI v II 1

2y v @I 1 111

3) I I v 1

4) 1 m o v
3) WSles e SRR T

1) TRAIRM AT BT T M MeAT Ha=ATT ST,

q) AMa™ I FoedT Fe ME R HAA S

&) WRHERM I Fosed | M GaIT  HaATd AT,

8) AFdE 0T hoear Id M Medm  Ha=ATd ST,

gl SR

9) 37 3T & TR Q) ¥ 3T § SRR 3) & I § R ) 31 ST § TR
32) Study the following statements :

a) All things made by God in nature goes to wet garbage.

b) All things made by humans goes in dry garbage.

c¢) All things made by God in nature goes in dry garbage.

d) All things made by humans goes in wet garbage.

Answer Options:

1) a and c are correct 2) b and d are correct
3) c and d are correct 4) a and b are correct
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33) AT P BT gl TAS ?

37) PEITd RTPRUT GETGT ITRVATATS! TfEhaT ot U ficseredrra.

§) TRUTfesh e G JIT HIITd FPROT P

) Sigl qd RTHAT HIATd GG ATIRVIRITS! SHfehRT o Irgl Gral aTaRe.

Tt SR

9) %eh 31 Q) Beh B 3) eh § 3701 B ¥) af 3for &
33) When will garbage bins not have any garbage ?

a) After segregation of garbage and making money from recycling waste.

b) When municipality start segregating wet and dry garbage.

¢) When all plastic waste is recycled again and again’

Answer Options:

1) only a 2)only c 3)bandc 4)aandb
38) gl IMMOT NS FHTRT INSEUIFT AN Hioft FifiicTes ?

q) Sfesa Afega R) GIM I 3) ST < 8) fad Arftagax
34) who explained the simple way how to identify wet and dry garbage ?

1) Lalit Rohit 2) Susan Raj 3) Shyamala Desai 4) Vivek Naniwadekar

3Y) e Treodl YRR W Rehal BHeRT ModT HRuATAT Fe SUIRITS! PIUT SoaUIaesuITeaT AT Hed
T ?
9) foE Q) TNTSHR SMS 3) UGEN U 8) N wd

35) What was the mode of communication that helped the Principal of St. Andrews to inform about
collection of plastic waste ?
1) Telephone 2) SMS on mobile 3) Letter to parents  4) All of the above

Y SART AT AR IMUTRT 3¢ o Yo TR Ia o :

PTE SATUBRIAT FETHIBRUT G HHITD AITHIALIDT - AT TpHeDpIT S d Fad Hehed T SRTeaTd!
TSl B! 3MTe. AHIBRUT FgURST ehl ST AHERAT AL WUl @ SHAHE oo 16 3RT HIFAI. g
ehl AT FHEIRR THIG CTHUTIT dTeliaNics Sehl ST TR Uhe 3R AT, HHISIh HaHTaerehad!
YR FLATHD AU G PRY d FHISIIHS e chl g AR A1 fafde |res Huwit 4 ferarean defie
UG HSAUIRTS! 3iaeae 1 JRUHe d1e oL’ FeranRurl Hfshar ‘S’ ied &R’ dgd
I I I h! ST AHGRITE ‘PR U q{HDhT 3. TSGE AHTIID FHADBAATS! (FHTS)
ALY IS IMALD IR ST AT ST ‘o Wt TgeiI™ 1§l A, FEHIHRoT g TN TR
ST TfshaT are. fosraaT fohar |waT A B -gourea SiiaATa FHFad! Uide! Seifde! S, ame
T e SraSt-fae! anftl TR A B 9 NIe! ST ST ALt JHaicurE! RS 3R

eI & I TfhAT 3TTR. FRUIST STHTRAT ATHE U 3Tes FgUrul Higyl TRoid 3RAd. T
3T FEFHIeRUTAT JeThs UTiees T 3R Sefd A Dl faepRid AT AfedT Ferfienur fohdT Faeienumar gt
%6 JHUR AR, T e AT At dT&T Hed fohaT doides! Heaweft fohar Yqege v oahara Bl SaTe
&R PRUTRT U Tceh, fobar Ferdiaumrl Ufsharr a1fties Tie o QrebciTl. A&MFIehRUTT &1 ehichal
SR ART TRBRAT IT TS TG BRI RUIAT ST AT Dhald SRide! (JRIST) ST a 7 FRATHD
IR JEae! ST — Ueh Yaard 3iTg. 3feft YR TATH Irdeiar B! Fehs fdhaT TReT Il a@e el
O EId. NN ST Igr TINTT B gt Bl TchaT IEHTHT 3. TR, TSI Alge T TR
STTU] QTR @ Talcrd TR TR EFHIenuTA g 37Te. BRI AETHIA-UITT Eafid 31ef 3RAT 31Te &t R il
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2 TS FHoI. FRBR Teh (@ PRI Dl AT SUHH AZST FEFHIPRUNST FITHR BIAUIR, Afgarar TgHm
AT AEHIGRUNST TS VIR ST, AT dlereafam fofgerar aefior dred arfiads g8 R
AT, M RIS et AepfiaurdTeaaT SR g /T SRATET i UMD ARSI Je IS, T =T
IRIRIER BT B0 TS IR ot Qe a SR STIATAT ST STUBT AEHRT ATDRAT I

RA&HIERRUT BT LRI’ TP T8N & HS Eicieh TTfaoT. SRUT 3191 YA Wl Tepral 1Y g ST
TPAT SRIT FgURST AIAId FIH BRI 3165 i SIS JOuTd FISIARU FIUIR 3R T, TR TR AR
g U areft ufshar Mg g dt ST HeR Sehfosd cgTdl hl SATHE UHurd 9d FHISITE aa =l TS
RIS

Read the following passage and answer the questions from 36 to 40

Some’experts have developed a framework in which “empowerment” and “social inclusion” are
closely related but separate concepts. An empowerment is “‘the enhancement of assets and capabilities
of diverse individuals and groups to engage influence and hold accountable the institutions which affect
them.” Social inclusion is defined as “the.removal of institutional barriers and the enhancement of
incentives to increase the access of diverse individuals and groups. to assets and development
opportunities.” The empowerment process, in this case, operates “from below” and involves agency, as
exercised by individuals and groups. Social inclusion, in contrast, requires systemic change that may
be initiated “from above”.

Empowerment emerges from " bottom-up” rather than “top-down”, gender equality or equity
indicates the degree of equivalence in life outcomes for women and men. It recognizes their different
needs and interests and requiring a redistribution of power and resources.

Empowerment is a bottom-up process i.e. the stockholders have the first say. This way of
understanding empowerment indicates that development agencies cannot claim to empower women
rather they can provide appropriate external support and intervention, which may act as catalytic factor
in empowering then or enhancing the process of empowerment. The individual focus of the term
empowerment gives a jolt to major policy programmes of the Indian government which are mostly
made at the central level and imposed at the local level taking no cognizance of the needs and issues of
concern of the local people. Any government intervention can be successful only when it adopts not a
top-down but bottom-up process. The assumption that planners can identify women’s needs; runs against
empowerment objectives that imply that women themselves formulate and decide what their interests
are. Governments can ensure that their programmes work to support women’s individual empowerment
by encouraging women’s participation, acquisition of skills, decision-making capacity, and control
over resources. Therefore, an inclusive approach whereby the planners working towards an empowerment
approach must develop ways enabling women themselves to critically review their own situation and
participate in creating and shaping the society is suggested.

Further empowerment should not be understood as a zero surn game wherein gains of one, leads
to the loss of the other, i.e. empowerment of women automatically results in disempowerment of men.

Rather it is to be conceived as a process which leads to overall empowerment.

3¢) HerieRuT JMfT IS FHIAY ATde TR TBUIST
37) Ueprdl (ufgedrer) A9y ARl g AIGHT AIGhel g TR GOl A9y RS ARUTHD
37U T PRUITLT 3.
9) Tl ey ST areiuanell TR SaITET U e Wi urg arefavanelt a1,
%) T (It Wil TR Ui AR Sl TR AR (STUNTHY) T @Ts! Tegei.
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RIBUDT IV /PO fau™ SRR A2 /T ?

Tt SR

9) 31 %h Q) 9 ®eh 3) & Bh ¥) 3T, §, P diFal
36) Difference between empowerment and social inclusion is that

a) one relates to asset ownership while the other relates to removing institutional barriers.

b) one relates to enhancing capabilities while the other relates to enhancing the access to assets.

¢) one operates from below, the other operates from top’

Which of the above is/are correct ?

Answer Options:

1) aonly 2) b only 3) c only 4)All a, b, c above
39) RPN TAVHThT Dol STUMIT AEHIGRIS FHE HATGT Prorct ?

37) o Ieum SrepRiEm ST

§) IR I YRR b 37T,

P) ot TAUM ToT WIS ST YUMTesT o,

i SR

) B R) I 3)9 8) TGB! PO T
37) Which is the main limitation in government led empowerment ?

a. It is inefficient.

b. Government system is corrupt.

c. It adopts top-down approach.

Answer Options:

1)c 2)a 3)b 4) None of the above
3¢) AemieRRUTRAT Tfshdd AR Y{epT PRI JFRAT 2

31) HedHardt ) GHHR IR B) TSP RO ) AT Hed RIAURT

i SR

9) e T4 ) Bh T, g MU & 3) Ueh T 3MUT § ¥) Beh
38) What should be the role of government in the process of empowerment ?

a) supportive b) facilitative c) enabling d) direct help provider

Which of the above is/are correct ?

Answer Optioris:

1) All of the above 2)Only a,band c 3)Onlyaandb 4)Only d
3R) HEHaRUIAT HheTmiciic Tcd DI ?

31) fofa uforad afgemr dgam ¥) AEEFRIS Uhs

P) PIAT INAIATT PRl T) Aged SIRd yHmnd ufafiftcg

i SR

q) 37 ffor § ) § affor & 3) 31, § 27U & Q) NS Jd
39) What factors constitute empowerment ?

a) women participation in decision making b) control over resources

¢) acquisition of skills d) more representation in the Parliament
Answer Options:
I)aandb 2)bandc 3)a,bandc 4) All of the above
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go) HfHT AemIawor 3T Jo eIl I TRER fARIUTART T8 BT

) FEHIPRUT g gLTac! YehR g,

9) AftB FIBIAU GOuHT e aRd TE.

&) RAIS G0N  RERI JHI0T UTgdT JoN S U SR 3.

Tt SR

q) 3f for § Q) Bh § 3) Bh B g) 3T, §, & fovat
40) There is no trade-off between women empowerment and men empowerment because :

a) empowerment is not a zero sum game.

b) empowerment does not disempower men.

¢) men out number women considering male to female ratio in India.
Answer Options:

lI)aandb 2) Only b 3)Only c 4)Alla,bandc

JeIe IART aTe TaR JMUTRT ¥9 O ¥Y FeAd I &l :

ORI IR T JAMIRIET SEE 3RV JMEUR U 'IRUGSH 31 D3l 3Tg. 3T ¢ JH Far,
9 39 UBre! Yo RIgd U il g RS, aardl SRITEl el Sfil. YR M AR goo
RN, AT T SYSHIBRATS! SR AL AT SIARIIT AT ot J[GUITAT AT ATfaRAT Feepel! ARR
TP TG 3TTR. AT STSETSeT (Rt 3R, e o FRITgSieh 37ed. HIGI, Jed AT SsTgrat
3Ted. <d, W, SGSIvN Iral eT Fredfer AR, Framier Fride o9 eom=y snfeariHed quive .
ST ATET. ST IS HEYUIRT 8 AHToT {71 3ameffquT, UTH1orenaur a1 Jedidl STavuh ahvd Afide TR TE!
e AU-IN, Saqadrd gonifaed, SRy faeh I e sfiae agRe siied gk, fUeamite
JIET@TT I ABS! MBI TPl I STUA IATg g Y B, NESRIRET S, TRUT J&F STHTCreh HIRTAR

anfeardt AR sngmie & M TR it 3w af enfearfier denes b, It e 3 &,
"'gedfieR Siegl PO ARGl ST M Tegel! degT MR Fegpelt J@M et B, AT RN &l
RGBT TS TL." IR, AL SR WeRk RISHNT Sobed ST HRATGR 3MHHUT o 321 g0
SMfeariiaR BT PO T ST fe=aehlad BicdedT ST T Elehad Side. AT ST THaSS 3T %
fFreTdt Sfter arere ST SASrTe! o, AR AL SHR-S=Td g SRTe. Tl Sia-dies! sqeal. @R
TR T SIEHTE T Al quT T RS ST aarT 3Tl vl 37 1 IRfRuchefiE desiie & o SHod
RTg BT, AT ATARAAT ‘31’ aRig! Faees S,

a7 anfeard TSR T AN A 7 Snfiardy e FHISHICK faRgRe 3TRd. AT U FHIST! dicht
HTST TG!SR, AT AT fosdt ATEY. & Uep HIST 3190 37Te. Ul HERIETE R ol TR UGHUT Bl
R.Y4 T IAMARA TERIFI 3TMd. PRE, ARSI, SR, DGV, M, ANSAT, B, TERT BB, WU,
ware!, g, BIadst 1 e AfGIRN SHIET 19 Sleage AdTd. STal SHeft HRAT Fey 7 AR 3
aMfeardt TehfomTedT Adeprel SR SIad aR<ied = 3TTed.

¥q) anfeardiear qET fodt THvIR HRUT PO ?
31) T ek FRTTE e A9 Bl
¥) STRET g9 i faeg 8.

MPSC - IISIRAAT G ORI&T : 2098 Jd U181 UoR-3 / 33



&) fRRBT ST T AT YT HINd T RIH fehadm 31

3) IUMCTT ST IRTAM I pivriia fosdt srerra et g

IR SR

9) Sheh 37 M 8 ) Th & AT § 3) Bh B ¥) Heh
Q) STfCariid R J(Id PRURT TR DT ?

) FrmfaR PR 09 RuR enfeardt auivg, SeFar aFa .

%) Q@-HIT-STGEIVN el TR Wl A o AT HGTeg, AT,

§) fy.<aneffaon, TrIfRYen a1 el STHUE Rid IS Fg O BRI a9,

IR SR

9) %eh & Q) Wheh 3f 3T 3) eh § IMOT & ®) Thth 3T T §
83) PIURAT AARAAT ‘37fH’ e I ?

37) IRTITT IR 9) g GifeeaTd SRS IguIR

%) SIS T AR R SRS ¥) S Al TERIRUTRT Saesd! 3.

tl'ﬂ'f'éﬂa?l;\’:

9) Weh § 30T B Q) Th o 3T § 3) eh § oTf0T & %) Theh 37 3T §

¥g) SMfeardidt SHadel TR SR d9a 3RUITD BRI PO ?
31) ARt BT SIS FRIER PBISS! SHIT.
q) fieumtesr JfRicard SRIchedT 3edT HRepid] ST
&) Ufcipe IR MU JeamenRd Aegpd el g a1 e

®) foraiean ATfereaTd el Areanle quide gl HreT T 7 geul.
tl'ﬂ'f'éﬂa?l;\':
9) teh 3T 37O & Q) Wh § MU & 3) %eh § 31T & ¥) Theh 37 30T &

¥Y) IRUIDH, MRS, gardt, anfed archies oeeer: a1 STFUIR 91eC DIV 72
37) IRTIH-3MfeH ¥) gari-fiRke= P) RWIGH-JAINT  ©) IAart—3eH
tl'ﬂ'f'éﬂa?l;\’:
9) ek 37 MM B Q) Bh $ 3) Bh & Q) eh o

*  Read the given passage carefully and answer the Questions No. 46 to 50 on the basis of the
contents of the passage :

Language is transmitted culturally; that is, it is learned. To a lesser extent it is taught when parents,
for example, deliberately encourage their children to taik and to respond to taik correct their mistakes,
and enlarge their vocabulary. But it must be emphasized that children very largely acquire their first
language by "grammar construction" from exposure to a random collection of utterances that they
encounter. What is classed as language teaching in school either relates to second language acquisition
or, insofar as it concerns the pupils' first language, is in the main directed at reading and writing, the
study of literature, formal grammar, and alleged standard of correctness, which may not be those of all
the pupils's regional or social dialects. All of what goes under the title of language teaching at school
presupposes and relies on the prior knowledge of a first language in its basic vocabulary and essential
structure, acquired before school age.

If language is transmitted as part of culture, it is no less true that culture as a whole is transmitted
very largely through language, insofar as it is explicitly taught . The fact that humankind has a history in
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the sense that animals do not is entirely the result of language. So far as researcher can tell, animals
learn through spontaneous imitation or through imitation taught by other animals. This does not exclude
the performance of quite complex and substantial pieces of acculturation, but the importance of the
linguistic manifestations of social status and of social hierarchies is not lost on aspirants for personal
advancement in stratified. The deliberate cultivation of an appropriate dialect, in its lexical, grammatical,
and phonological features, has been the self-imposed task of many persons wishing "to better
themselves"and the butt of unkind ridicule on the part of persons already feeling themselves secure in
their social status or unwilling to attempt any change in it. Much of the comedy in George. Bernard
Shaw's Pygmalion (first performed in 1913, with subsequent film adaptations) turns on Eliza Doolittle's
need to unlearn her native Cockney if she is to rise in the social scale. Culturally and subculturally
determined taboos play a part in all this, and persons desirous of moving up or down in the social scale
have to learn what words to use and what words to avoid if they are to be accepted and to "belong in their
new position.

The same considerations apply to changing one's language as to changing one's dialect. Language
changing is harder for the individual and is generally a rarer occurrence, but it is likely to be widespread
in any mass immigration movement. In the 19th and early 20th centuries, the eagerness with which
immigrants and the children of immigrants from continental Europe living in the United States learned
and insisted on speaking English is an illustration of their realization that English was the linguistic
badge of full membership in their new homeland at the time when the country was proud to consider
itself the melting pot in which people of diverse linguistic and cultural origins would becomes citizens
of a unified community. A reverse movement, typically by third-generation immigrants, manifests a
concern to be in contact again with the ancestral language.

46) Choose the correct option/s :
Eliza Doolittle’s example is given to explain.........
a. the meaning of taboos
b. how comedy is woven around her.
c. how language plays an important role in moving up and down in the social scale.
d. how good language is necessary to be accepted in higher society.
Answer Options :

I)aandc 2)bandc 3)banda 4)candd

47) Match the following:
A B

a) Cockney I) Prohibited words

b) Acculturation IT) Clearly seen

¢) Hierarchies III) Dialect

d) Taboos IV) System of levels

e) Manifestation V) Mixing of cultures

Answer Options :

@ M (© @ (e
) m VvV vV 1 I
2) 1 onrn v Vv 1
3) Vv V. I o oI
4) I m VvV 1 I

48) Which of the given statements are true in the context of the passage ?
a) Animals learn through imitation but not human beings.
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b) Language does not reflect culture.

¢) We have history because of language only.

d) People learn standard language in the hope that they can go up in the social scale.
e) Immigrants in U.S. did not learn English.

f) Third generation immigrants want to be in touch with their forefather’s language.
Answer Options :

I)c,dand f 2)b,candd 3)a,dande 4)e,dande

49) Choose the best option/s :
Children largely acquire their first language...........
a) by learning words.
b) in the classroom.
e) because of their parents’encouragement.
d) through the exposure they get to different language utterances.
Answer Options:
I)aandb 2)candd 3)d 4)b
50) Choose the correct options :
People in the higher society laughed at .........
1) people who do not want any change in their language.
2) people who try to better themselves by appropriating their language in its phonological,
grammatical and vocabulary features.
3) people who feel secured in their social status.
4) None of the above
49) TS IRAIT IJARIHI 3T JRAAT ISRTIATS! 3RISIT Fdd IR RiITeReT IaRd M. SR
UIRIEIOATS] STRIAT d ST 3TgshH 8o 3TIfY go U=aT ITRART. ST JoIT AT 3 U7 Jadd
JIEITd JeI JTRIT 4 TRRY IR, AT TR TS5 TR HUDIBT IARIT BRIVITIT Y01 TRI=AT Fl
IRESE
) oo R) ¢o 3) 8o 8) §o
51) Asifqand Ajita are in a hurry so they are climbing down the constantly moving down escalator.
Asifa and Ajita take 40 and 60 steps to reach the floor respectively. While Ajita takes 3 steps,
Asifa takes 1 step in the same time. Select the number that indicates the total steps each one is
required to climb down if the escalator is not movmg.
1) 100 2) 80 3) 40 4) 60
4) e R3e arfieachl SIaRET SaRfIT HINE ARSI Sl IR QT el alaRT : FRMST e
TR ST ek foSean ifterhiqy Afd Fad BRY =T,
po nayot means She eats everything
su ?yot means You will eat.
ki ?yotna means I will eat nothing
leyot rah yotle su means Are you eating a lot or a little ?
‘nafor ak means demand everything ?
"Will she eat a lot ?" g IT HINT & HRUIRT TR 1.
9) po yotle ) Meyet po 3) ?yotle po 8) po ? leyot
52) Study following expressions and recognise the structure of the unfamiliar language.Use two

assumptions that : there are no exceptions to the rule and only those rules apply which may be
derived from given expressions.
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po nayot means She eats everything.

su ?yot means You will eat.

ki ?yotna means I will eat nothing

leyot rah yotle su means Are you eating a lot or a little ?

‘nafor ak means Demand everything.

Select the option that expresses ‘Will she eat alot 7 in this language.

1) po yotle 2) ?leyot po 3) ?yotle po 4) po ?eyot

43)

53)

3FTFH (a) AT (b) AT SIAMHAS! ST 95 a1 Seawrfg Sire! faer.

AT JATUTER SR HRAATS THION ... (@) ... AT Gl Gdetel SRITa! HHd! IraudTd fHcreiedT fauid
TR T BT UTauad 3Tl U Blest ST b FhR 3 ARIRD T AFRID [TPRIER ...
®) ..... SUIR FRUIRIS! IR U @A et B o iU 37T Feh AT [GpraeT fSares
PIGRIAT FATAUIRT TR TIGRT &l 7V SA3del ST RIdT 3Tg.

9) “¥fifep g foFTeP™ IR Q) "fife T RrpReeft

3) o g RrepReramft g) 3nfdfes a e

Select the appropriate pair of words or group of words to fill places (a) and (b) respectively.
Although considerable ...... (a) ...... resources had already been expended on the new drug,
development had to be halted due to adverse effect during human testing; once hailed as a kind of
...... (b) ...... that could be used to treat numerous physical and mental aliments, the drug will likely
be remembered only as a financial albatross that bankrupted its developers.

1) wholesome and sinecure 2) wholesome and mendicant

3) pecuniary and mendicant 4) pecuniary and panacea

4%3)

54)

IPATE UR USeled] IRUGNIGAT Fasuhid IR SHEIRMT THur QW 7l faTetl. et arhien
fiicTelelt 7 e fRRIUBIET SIghH YR, We MM 902 31Id 3MTed. fieiedr Mfedear dewia v
faur fraer.

q) PIUITE! (TP HIGUARISUM AT Y 3R

R) Rielca SHGARTET TTe! s 432 Hol STraT fresret.

3) WPl IHEIRTAT 00 Fd fHTe.

) RicheicdT IHSARTST 309 T fAesref.

In a recent election for Sarpanch, a total or 972 votes were cast for the four candidates, the
winner exceeding his opponents by 52, 78 and 102 votes, respectively. Select the true statement

with respect to given information.
1) Data is inadequate for deriving any conclusion.2) Winning candidate got 132 more votes in all

3) One of the candidates did get 200 votes. 4) Winning candidate did get 301 votes.

44)

55)

RUCIGIRIM ATReted] IRIT b1 ST Aifidel degl AT el Ahrel TR dbel, HA reprd!
A& T APV RG] Fegat SR ATcel Heh diF DI I 3RIdIeT ok TTcliel 3R STeua
SRIJUIRT A1 FasT.

) I 9

Sateja took her four grandchildren for a car ride and they visited six junctiond. When she asked
each of them to draw road maps that they used during their ride, they produced the following
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maps though all did not show exact relative positions of road connections. If only three maps are
correct, then select the map with incorrect connections.

3 4

1) 2)

4)

56)

M TGS TS TP PRI S SIgd GoH SChIHT JSrd <oel Pl 1 Alacht dgr faemeff
TCTARATS! St 3T, TABSTU] CHeTTAT Tch Qahehl JTSIeT ST 312, Bl &t 3Tt  fueres
R Il Q. I & AT Sdicbg] ST TAHI Il 3. AN, & fUTepear Iofdipg SHT
T IR AR, AT PITATAT AR Feiel! Tl

SR FHRAT SISl S¥elell @ch! SIAUIRT Uaid faer.

q) e Q) 7% 3) &l 8) T,

Two isosceles trapeziums shaped desks are joined so as to form a regular hexagonal table top and
six students are sitting around it for a group discussion. Each one is occupying only one side of
the table. Camila s sitting in between Arya and Pinak Banku is sitting two plaees to the left of Eni.
Nauu is sitting two places to the right of Pinak. Arya is not sitting next to Camila.

Select the option that indicates the person sitting opposite to Arya.
1) Camila 2) Banku 3) Eni 4) Nanu

49)

57)

SR A$B @7 3RI A 8B A1 S 3; A @ B a1 31f A & B ot a7gent amg; A#B a1 3ef A & B ot
et 31 3MfoT A* B @1 31f A g B @ a€idt agd, TR W, T d Q & HIGS IRIedTd SauIRY ATARa el
RESIN

NP@QSW*T#U JA)P@WSQ*T#U

IYP@QST#HU *W S )P@QST#W*U

If A$ B means A is the brother of B; A @ B means A is the wife of B; A# B means A is the daughter

of B and A * B means A is the father of B, then select the relation chain that indicates W, T and e

are siblings.
HDP@QSW*T#U 2))P@WS$Q*T#U
) P@QST#U*W HP@QST#W*U

Y¢)

58)

o faum anfor QR smenia sy g foel ared. el f=pd srfeten waid faer.
faur: 94 B g X 3ed. 94 X 8 G 31ed. drat G g T 3fmea.
ey : 37) Pt B 2 T 3.
) el T 7 X 37T
%) Fd B g G e,
s) @l T2 G 3med.
R SR :
9) P IO § Q) Iramfr g 3) § a7for & Q) 37 T

Three statements and conclusions based on these are given below. Select the option with valid
conclusion/s
Statements :
All Bs are Xs. All Xs are Gs. Some Gs are Ts.
Conclusions : a) Some Bs are Ts.
b) Some Ts are Xs.
c) All Bs are Gs.
d) Some Ts are Gs.
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Answer Options :
I)candd 2)aandb 3)bandc 4)aandd

4R)

59)

TehT RIAURIGIINT Plel HRY 3MTed. Tl 313 fudsdTel TR oRT UgaTlel JMRd. SHUgeriTdiel Urdr sy
AT A ek foUhdTes STed. AT el HIQUD! TRIPIR T TR Ug 3Med fohar fouch imed.
gt Tt TR Jfetel! fhaT e faer

9) 9o ?) 9 3) 93 8) AR

In an aquarium there are certain number of fishes. Of these eight are spotted and thirteen are
striped. Of the five golden fishes in the aquarium all have only spots. Of the seven pink fishes

each one only has either stripes or spots. Select the minimurn possible number of fishes in the aquarium.
1) 10 2) 12 3) 13 4) 19

&°)

60)

qrET TETAT QF SIUSHT Ul HegH BRI dodredl f9vg ol 3. Ui WiaTell des JAietigd
THHETAT SYSIA SIS deiTciiel 9% S8 aToRTd AN, AT SIS U o ST AT TR JT0Re I
ST 3ol 3Ted. I SSIeR Teh IR eIAvMIol ST AR 37Ted. &% HfFerer df Sa1 Selasd Joard
AT T URITAT IFIedT QISR Se ARG, FgUloT SR M AT SedaRer I8! ARa! R Al 7aeT GSTeR
IRal, FaedT ST al ST STeR JeRall AT ITYETOr o SSAT AR M.

SR IR AT FTelaR IS IR JoaNd et AT BRiAredT el & a1 ARY efigdel
TR Al ST HHIGIT FEER IR o Ukt gafg fasr.

) & )R 3) ¢ g) ¢

There are two huts of two brothers each on the opposites sides of a mdium sized pond. Each
brother has to use 12 stones in the pond to visit each othet’s hut by crossing the pond. These
stones are numbered serially using numbers one to twelve. A dragon fly is jumping on these
stones as follows; every minute it juups to the fifth stone from where it started. Thus if it jumps
from the fourth stone it would go to the ninth stone, from the ninth stone it would go to the
second stone and so on.

Select the option that indicates the number of stones on which this dragon fly would be resting if

it stops jumping at the 36™ minute if it starts jumping from the stone that is numbered two.
1)6 2)2 3)8 4)4

&)

61)

3T, =T, fowam amifey fama it avfATercaiRATe e e SfTulel. o ATeaTdeh! Tablhs 3T, T et
d PIUMERS 3TTe & AR 3TTe 3TN T IRIGUM HfTUIGT dhet. SR AATINT e Ueb UG 3RIe
3RS TR YR 3Aetel! @chi fHias.

g :

3= D TSRS YR ATel ST fGaTheel JRId AR

=1 © HISURPS JRID ARl M0 STehse! i Tl

fa= : HISAPs QXD TG M0 F=ATehsa! I g,

= © AT JRID ARl M0 SThse! i el

q) T R) g 3) foma 8) famm

Anya, Banya, Dinya and Vinya brought a story book for their classmate. The book is with someone
among them. They all know who has the book and each one makes a statement about this. Select
the person with the book if only one of them is making a false statement.

Statements :

Anya : I don’t have the book and Dinya also doesn’t have the book.
Banya : I don’t have the book and Anya also doesn’t have the book.
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Dinya : I don’t have the book and Banya also doesn’t have the book.
Vinya : I don’t have the book and Anya also doesn’t have the book.
1) Anya 2) Banya 3) Dinya 4) Vinya

§3)

62)

DEAR, MEAD, WARE 3/1for DRWA 9] 7 93Tl Sieb weberd] SigapHreld ara] 9839, §382
4239 379l 3776, REAM w7187 b 174er.

9) 8934 ?) §334 3) €934 §) 9384

The number code for three words from among DEAR, MEAD, WARE and DRWA are listed here

in a random order as 1435, 6342 and 523 1. Select the code for REAM.
1) 4135 2) 4235 3) 6135 4) 1345

§3)

63)

oo Fepen I I 130G CIPIPgT GI7 YPCTvaRI] Yabrd da] 13w 1391 STIeq] Goard aef]
SITE. HRIP &R ATl o Yapas T ST SiTg. i1 HaTretl Geald @b &7 & w@Riieh! 9 a¥ier e
T ! ST FGNTaR THUIITIG] 1787, 5% &l J79ft Gl § o Vepep G G ST a7 faer foraeb Sy
PIIUITE] TR 3TE @ TePepIT [7a19T BRVINT Gl 79T,

9) 9¢o ?) 950 3) doo §) Qo0

Tlwo scooter riders moving in opposite directions start at the same time from opposite ends
of a 100-unit-long road. Each rider moves at a speed of 40 units per hour. At the moment they
start, a fly leaves one of the riders and flies to land on the other. If the fly travels at 60 units
an hour; select the option that indicates distance in units the fly needs to travel.

1) 160 2) 140 3) 300 4) 200

&%)

64)

T4 TR STRIRIT Wi STaeur ARG fSaRufshar amRuRt Siet fHasr.

1) fafay TTveie=araT Fudhit HeMehT Urgull el 31Te 3foT fiRhe ST S0 3T FiedT 39T
30T 1S e HIforent 3T FANTARITG S |AIaY HRUIRATS] 3721 QI Teid AedId 3R T 3T
g fiRde TTelid SRelell |Ig FIRARTC! STal JTet SIS Wil RIS dl AaufREr SaRT
QTN TR 31 8 3MU0T A ShRIierd gd.

q) AP AT SIS el ST SRifer @t A1 FHas Ul Taede 3. AarT @d ol i
UG <UITET STERIT 3RAd SMOT Pl Pl IRATGT Ugalidl dTIR Bedles AqPIAHT Hald dgardm
TR FPRUFTHTS! Tl T TGl BRUN GIehleT Blel. ARATST ATeh=it GRTHT URUTHTET fereR ot et -1l
fofr e aifes.

%) TehcR o0 SRaNT BRI Il SRAciiet febar femei=it St egrd =euf uRar |l g ST SRAchiar.
3T i ST 00T Rhi SfUD AT SRICATT TI0 GRTaT JfGHTIT AN 3T 3
TR AT e SRIcaTes Jiuel STl URIal Jomett foemeafardt |t ok orfd 3
3T Tt TfEs.

) AIhT ST ATURVATIE AThS SR ot goil &1 o e Rguarar ITq 71t M. DS
ST i Fofl Gud DRIEH I TR Aelc Hiheodl STordl oil gl TRH PRUATT I
THEAT. AT SR AT TS STRUMAT FfGET Jefal aToR PRI gal.

afft S :

q) 37 ffor § ) § affor & 3) 31 37foT & ¥) § 3mfor

By studying all following options, select a pair that uses most closely similar reasoning.

a) Researchers have looked at the communication between different animals and found that
meerkats have a series of alerts and calls that fall into two categories, greetings and alarms.
Since we can be sure that this meerkat is not calling as greeting, we must accept that he is
attempting to raise the alarm.
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b) Famers must choose between using organie or ngn-organic fertilisers on their land. Organic
fertilisers can produce a lower crop yield and farmers may find it difficult to change to organic
methods if they have been using non-organic methods for some time. Farmers should; therefore,
consider the longei-term impacts of their decisions.

c) Either young persons are getting cleverer each year or examinations are becoming easier for
students to pass. Since there is vey little evidence from IQ testing and other supposed
benchmarks that young persons are more intelligent now than in the past, we must conclude
that the examination system is easier for students today than it was in the past.

d) Closed wood burning chulhas are a better way to cook yorr food than open fire chulhas. Closed
wood burning chulhas are highly efficient, whereas tie open fire of open fire chulhas loses a
great deal of heat in the air. More people should, therefore, use closed wood burning chulhas
in their homes.

Answer Options :

I)aandb 2)bandc 3)aandc 4)bandd

&4)

65)

SIS HSR SIHTeT HISRUET HIS 31g, URY O Siv1edT HISRIUET 3R e 31Te. Thofrd AISR SR
ST HISRICAET AT, ST AT AISRIVE HIS 3RIT SRl HISRIUET g 3MTe. SR MHRM HAIGH ASR
A SR ST PR FEH HISR AR RIS TR Geidl AR Aaid e 3Mfr Faia
TSRS HISR AP SIS [-de.

q) fhoT @ St Q) 3 T S 3) dULF SR ®) S g et

Jay’s cat is biger than Amy's cat, but is smaller than Jaini’s cat. Fija's cat is the same size as Venu’s
cat which is bigger than Amy’s cat, but smaller than Jay’s. If bigger cats are faster, but smaller cats
are more obedient, select from the following list the pair of keepes who have the fastest and most
obedient cats.

1) Fija and Jaini 2) Amy and Jay 3) Venu and Jaini 4) Jaini and Amy

&%)

66)

T faemeatear werd */4 Hefl e AT ANdler /3 el AV Q0% =T &R U7 fiesde. SR 3%
T O Q0% =T &R UT fiesdel Rt R Heil A¥ieied] [emeafH F qefauRT Wiy fasr.
9) 4% R) ¢9 3) Reo 8) 934

In a group 2/5 of all students dre girls and 2/3 of girls scored above 90% marks in Mathematics.
If 36 girls have scored above 90%, then select the option that indicates the nuniber of students

who are not girls.
1) 54 2) 81 3) 90 4) 135

&)

67)

VTSI PIRUITT Theh Thsl AT IUcied 31Tg. aneft Yo fopeft (Ufey I99) sdam Trad ™ e uarg
RO TMEM 'Ax' 8 ®IM& oo fhHleR 3Rfeledl 'By' a1 RAMEER GREUIRITS! FHID 0.80 3l
Arger. aneft go et (U ART) AT THRH T TaRT FRUMRAT MEM 'By' € ¥ATHE 'AX' AT FATHHER
UIEIIUIRITGS! PR ¢.90 1 AlSel. AR (AHRAT & R TR ¢80 T AL JATetl. T GH
AT TR CIRUATEAT GEM Ui Svaas! fRiepTel iRl fReIam Sueiey srfeten dremad Faer.

9) Q0 fafre ) R Ffe 3) 29 fafre ) 9y fafye

Only a single railway track is available for trains in Konkan area. A train travelling with uniform
speed of 50 km per hr. leaves station ‘Ax’ at 7.40 am to reach the station ‘By’, which is situated at
a distance of 100 km from ‘Ax’. At 8.10 am a train travelling with uniform speed of 40 km per hr.
leaves station ‘By’ to reach the station ‘Ax’. The Traffic Controller noticed this situation at 8.40
am. Select the time duration that the controller has mathematically, for making decision, for
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avoiding collision between these two trains.
1) 20 minutes 2) 19 minutes 3) 21 minutes 4) 15 minutes

&)

68)

SRIT U, ' HY SR H1SAT STSURIY € auie gIoTaT aarl € Ue HISAT 9 aui glunT gt © ued
fiicserett TR ATSAT ST garlt 9% Ue fiesd. TR SIRITIRIT 4 aufHt 2R ATet 7 SRIqUIRT 9 fyaet.”
q) ¢y ¥ Q) ¢o ¥ 3) /Yy @ 8) o I

Jaya says, “When I add 6 times my age 6 years from now to 7 times my age 7 years from now, |

get 14 times my current age. Select the option that indicates my age, after 5 years from now.”
1) 85 years 2) 80 years 3) 95 years 4) 90 years

&R)

69)

A,B,C,D,K,L,Ma O gMnus X, Y T Z IT I+ NN LT PTH PR, o AR SHoll, AMad
fIeprT T Qicieam BTt StergH T a1 i &id < BT PRI, DIOIITE! Tl ST e Ht F ciwden
STRT @I<hl ST R AT ST TepT e AreaTdeh! fraa ST @ch! &1 &vd ATerd. K 81 Stergrid
LU PROTAT B RIeR QMead BRI Y 31 Fed Hele aRal. A g M g T &F1d B H=ard qor
qead faepraTa Aieg ST Y a1 Heed M axd A, C &1 HeUe Z 31 5¥d, ARSsvid, Heh D amead
fIePATT LU PRUTATERISR B HRal. L & STergiiia Fees dRal ST A B dRal 1 I B
PR &L O & ARSI &A1 B PR ATal. ' PIUT AT /AT fhH TehaRt FMeDh HRSoT!
AT M IRAT 2’ I JTR VIS Tt e,

q) Z aesdl i ) ZaX IR 3) Y X a 8) Wh X

A,B,C,D, K, L, M and O are researchers and are working in three different institutes, X, Y and Z.
They are working in three different areas namely, solar energy, sustainable development, and
rainwater harvesting for agricultural purpose. Not less than two or more than three researchers
are working in the same area and not more than three of them are working the same institute. K is
researching in the sustainable development in the institute Y with B who 1s doing research in
rainwater harvesting. A and M are doing research in the same area but not in sustainable development
and are not working in the institute Y. C is researching in solar energy in the institute Z only, with
D who is working in sustainable development. L is researching in rainwater harvesting area and
not working in the institute where A works. O is not doing research in the solar energy.

Choose option for answering question, “In which of the institute / institutes at least one researcher
1s working in the area of solar energy ?

1) All expect Z 2)BothZand X 3)BothYand X 4) Only X

70)

e Jgtd A, B, C, D @ E I1 ST SISUITIT I¥ITdT h1eN SRAfIeiel Mg, e fadka
PV FATEAARIT FodTd Bl ATl ARG TepT ST theh Uehard TTGAId @IRIGT 3121 AFTIT J2 T
FRI. ST FAIT bell T AT AT, & UM TRl 1T AR Joard ol fSepruneasad arar dgel ?

) Wb 3) aF g) o=

A road map connecting to the colonies A, B, C, D and E is shown in the figure below. Design
the route starting from any colony of your choice so that you will have to walk on each of the
seven routes once and only once. The starting point and the end point may not be the same. From
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how many points, can such route be started ?

1) None 2) One 3)Two 4) Three

99)

71)

Ui ARt PIosoigaed SR ST YRR SR Squariel waid IR watg Fasr.

T T
YERIE

=

NN

AL ?

) [N 2 [V N 0 [N

Study the boxes of images carefully and choose appropriate option to replace the question mark.

&1 =
DY _} D
NN
_1L._
el ,

E

DS 2)f‘f 5N 4)@

OR)

72)

ot rel) a1 T Erar ST Hell TdUTT RIEUIRIT YR d%oe HUT=IT Aetl, Tefl 31for Seft J1 Marciter
TTEhT Ve TR 3. \d M AT R Seeiell 3fed. areft o =eft ATt 39 fbeft, deft & dreft 20
fopefY, Tl o areft 22 fHt, Heft O deft a& fobHt, Tefl O Jeft ¢ fopHt amfor Feft T Al € ot an arda
MR, 4 UTEHT St Q@ Ulellell IRAUIRITS! Hell BT AR fopa SR fY medr frare,

9) ¢ ) ’Y 3) R0 8) ¢3

I'live in a village Pali and I want to visit my therapy clients living in nearby villages Neli, Teli and
Seli. All villages are connected by two-way routes. The length of the route from Pali to Neli is 31
km, from Teli to Pali 1s 20 km, from Seli to Pali is 22 km, from Neli to Teli is 16 km, from Teli
to Seli 18 km, and from Seli to Neli is 26 km long. Select the minimum distance, in km, that I

require to cover to visit my clients and return to pali.
1) 84 2) 95 3) 97 4) 83

©3)

g faum wRierr ae.

31 ot fafder Taeurean e Sicar vEmnd fanem seRRT IR SR
q) o] fargs ar faforiesor Ufshar AicaT TG Shotd SedTe Rl

%) STd SUHTET AR PR THI STUS>STT AIGAT FHTUICT FGNUT el .

) PICPHRUY I Bor] SUHIATT AT G, Al

gelel TR a¥iel fauieR 3MURetel |aid I A s,
wafft S :

q) STESY aTaRe TN dhetell Srol [Afder TerRpuTeaT HguUId MR STeb.
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73)

R) SITSUHTE TRST THEATI AT g1 Al T 3T

3) PICPR PeR| FATI HRAT T AU TGNV FHRIT TR STagUrel dTaR STesd HISeT THIUI
Sl AU STVl g IHTel TR 3T,

8) STITeH SURTT G&PTos TRIT Srorel PHARAT AT AR PRUFRITS! HIGAT FHIUNG JHU[Ssort (el
PRI 3 GIRI T

Examine the following statements :

a. Production of various forms of energy requires bio-fossil fuels in large quantities.

b. Atomic fission or fusion processes produce large amount of energy.

c. Atomic energy reduces pollution remarkably as it doesn’t use bio-fossil fuels.

d. Problem of atomic waste can be managed tactfully.

Select the option that is most appropriate inference based on above statements.

Answer Options :

1) Energy produced using bio-fuels contribute towards pollution of various types.

2) Atomic energy is the better option as it doesn’t require bio-fuels.

3) Since waste can be managed tactfully, atomic energy is a better option to produce energy by
avoiding aggravation of pollution and consumption of biofuels.

4) There is no better way other than producing atomic energy in large quantities for mnnaging
scarcity of fossil fuels and shortage of enerry.

V%)

74)

e e derl, T oM, T I8l TRihs Joudrd! SIeId BHl SRUANIG! T
ST AThgd IX¥ FgRAT @d 3R gadel el 31e. g U T-alldaerd TR ared SRedTie
IEEET DI & Il el YSPIAT el g,

e FgRIaaHTT JIGRRATT Ui & SraRIdT Hheldd ATauITITaR Tl BT QT el 318 & AT
SIPIPRIL... T FHS[T Sl 2.

Riet faumrEl it PRURT Haia Tehaid gaig fFHasr.

q) g1 HfcUTIaT TRIeT e o #gwem o

Q) TRMfceY g Hgwaral 49T Alal.

3) T8 URRUTRIIS! SRIH! S &R0l HEtErd 38

8) T JeeaHR B gl Jreanelt S A6y gl

It has been suggested that long-term prisoners, on release from jail, be given a reasonable state
pension to reduce the likelihood of their resorting to crime. Most people instinctively reject the
suggestion as they feel it would be like rewarding criminal activity.

The supporters of the prisoners’pension scheme have criticized those who reject this possibility,
by claiming that for the critics ...

Select the most logical option for completing above sentence.

1) punishment for criminals is more important than crime prevention.

2) crime prevention is not an important issue.

3) long-term solution for preventing crime is important.

4) the law should not be concerned with what happens after jail.

vyY)

2
x =1 S fpmeferdl = + = - g ar e g

g R
o T ¥ I M AGfiih AT 3Mg ot e
9) 3 Q) 8 3) 4 ) &
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75)

. . . 2 .
Select the option for which the value of x, for the expression —Z + % - 4 is a natural number

that is between O to 4.
1)3 2)4 3)5 4)6

als
el

V&)

76)

U9 . VE T ¢o § ""Decision Making & Problem Solving"' a¥ter 3mmgd.

OV S<hT U N RIT NIAT FAPAET 3% AT 3Reled, 9o o Y FANCKAS el g qeit
TR 37T HIRBIES BIUR TG, RIS GaTd, THIDHIIUI, TRIND AT, il Pefge SeaTages
qUITIRATET IRTATT © UTEUT 3MTet 3R, JTSRISNI AT AT, 0T IRIATAT BlHPhRe e,
fafer ypRdt @A, fIsprosiuun sTE T ARIRG, Wafd T AHITh AR gRoms
PRATT. I JooT IR TMiees M7 e T DS BT ST, Uh STETEER SR 3T 3R
q) Yeild T qalrd! ure qarE Rk 7ater @ axudren

Q) Seifdres SmfoT AR AR STTaERT ST it AgHRTH fheiRaei eafthetdl sTRR dar

fmfor axuaTe
3) TR0 ShiAT fafaer FauTe ST T 0T, TRRRT gl Siemdlelt SRy, Stafdecam sfr

SATMOT SATegITcHeD il YTIUATET

) I G, T ehi-T TcHEADS AICUATT 2aIdT SIIURIT ac-TaTed <&f Jeriell Jed SudTel.
It is observed that the girls and boys between age group 10 to 24, called as young people that
compise 32% of our population, are stressed due to physical and hormonal changes, peer
pressure, loneliness, physical attraction, curiosity about sex life, etc. Along with this things
like social media, unhealthy eating habits, addiction of various kinds, carelessness, etc. affect
their physical, emotional and social health. Many a times confusion and frustration lead
them to commit suicide. Being a responsible doctor and senior officer in the health department
you will give priority to initiate drive for...

1) reducing legal marriage age limit of girls as well as boys.

2) creating adolescent friendly health services in collaboration with educational institutes
and corporate social responsibility initiative.

3) engaging young people in constructive and challenging activities such as reducing
pollutions of various kinds, adapting eco-friendly lifestyles, designing biodegradable and
enerry saving products, preventing wastage of food, water and energy, etc.

4) assisting all stakeholders to be vigilant about the behaviour of young persons that might
lead them to commit suicide.

VoY)

aTEe TR fawmTreaT ufreroneffT areqe M Sgu dedlaas gcTRew®! f1em aruare R o
RIS AERT U] RIYR JHeAThs Audelel 3Te. IBEeaTdes! TRaR SRIdHT greaT Hfremmefiar
T fod TAelelt ARETh! 3Nawsal. HRramef ATewprel e eequardT ggH Sl ST quRiei STTes
dipelt Pefl. A T FEIT MEAT AlD 3N SN =1 el Gl SoigR fremmer 4
TGRS a1 e Toh YT geRmHt U 312 S A1 vl I ATes TR 916 AT A&l JATet!
TR 3T TP Siffidel. AT SN ¥d SwidsTal & gRadel. Hfremnef e s
TIGAT YHHTT S8 SUIN HHfaet. H STUEeS e digele ATt anfor a1ge H ot g oY aTerd
T e g AmTe. TfRreromeif qreren dre gaauar! T et TR, TRl gadTe

q) FRra IGae FROMT SRhHT 3l AgHta e FufRa deten e Fer wIfSt SHROT FeIaw
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77)

RGO B 3N il 3T,

2) ShT TR ATed FgUd el areidlt e G WU el ST SMfoT A o dfgetT e 31 78U Sihss
BIcH

3) Tl PTal I8 TN PIGET 39T AR FHST S Algd Ul Sih Blsal.

8) Goiel BIUTRISl ATeTehlehs ecd PRV IAATe AT STV B0 PRUITVGS! ATAT e THT 3]

qAlgH .
You are in the charge of assisting trainees of traffic control department to make decisions
related to on the spot punishment for the violations of traffic rules. While patrolling during
night your trainee came across the car without rear lights. The trainee ordered the driver to
stop the car and conducted detailed inquiry. Driver revealed that he is the owner of car in
question and does two jobs; one during the day and one during the early night to save money
for providing quality education for his two twin daughters and thus failed to notice the situation.
He also produced all the documents related to his claims. The trainee ordered him to pay
quite a big amount as a fine. The driver started pleading repeatedly that he did not violate
the rule knowingly and will be eareful hereafter. The trainee requests you to suggest solution.
You will suggest that,
1) we should always fine the persons who violate the rules laid by the deparhent as it is our
duty to maintain the order.
2) the person appears to be needy, therefore, ask him to pay reasonable amount as a fine and
let him go as it is his first offence.
3) it is better to keep him in the judicial custody for some time and allow him to go after
warning.
4) this driver has a genuine reason for this negligence so let us not make the life diffrcult for
him and let him go after strict warling.

V<)

78)

ThT STRUTITERG  SIRRITUAT AHINID STETEGRT AT AT, StiarredT |d Uegaurd Fafmir

TRATII HRUTRATST el SO e Wi 72Ul ol [ SiTell 3MTe. JHeaTes Q- IO STedl

31T 30T TcfleT heh WhdT a8 TraTell Il M. aIshiic INT FagR Bl cAlhi-l SMETED

BIUARATS! &, S febel Gy e fARUET HEd <01 @ Alcilel Ul NEeTd BRI SR, Al el T

SRS THTE T T M ST A e gereamer foream Anmofil fae =t o a1 31 3.
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You have been appointed as tle head of the office that allocates funds for promoting innovations

MPSC - ITSIRAAT gd TR1&TT : 209% g TRIem UR-3 / 3%



in all walks of Ilife by a corporate under the CSR (Corporate Social Responsibility) scheme.
You have received two proposals and as a rule you need to select only one of these. One
organization aims at assisting people for becoming spirtitual irrespective of religion, caste
or creed, using innovative yoga practices. The head of the organization is the guru of one of
the influential leaders from the city and he is pressurizing you to select her proposal. Another
enterprise of young entrepieneurs wants to kelop tools for sanitation workers who maintain
the city clean on no-profit basis. With some demonstrations, the enterprise guarantees that
their tools will help workers to handle all sort of dirt without getting dirty and save them
from becoming prone to various diseases. You will,
1) delay taking ariy decision as till now you have not seen spirituality playing any positive-
role in eradicating corruption, injustice, and oppression that is present in various foms.
2) allocate funds to entrepreneurs’group as there is an urgent need for developing assisting
tools for these people as it is their right to live a healthy and respectful life.
3) get special permission from the management for dividing available funds equally among
the two applicants and keep both of them happy.
4) allocate the funds for spiritual organization as there are many affluent followers of this
guru in the city and according to them they are doing good activities for the benefit of
wider society.
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Recently you are appointed as the head of a department that looks after conserving trees in
the area and prevention of illegat transport of logs. While travelling by public bus you chanced
to hear a conversation between fellow passengers occupying the next seats. They were praising
the work of your predecessor who is now promoted, as the state-wide head of the department.
According to their discussion your predecessor was a very good person, who never took bribe
and did not prosecute persons for cutting trees in the area. He never objected to cutting trees
even though in many instances it was illegal. You would,
1) participate in this conversation to find more about the popularity of your predecessor and
plan your strategies of work for keeping people happy.
2) participate in conversation and convince people that though your predecessor is a good
person he did not execute his duty properly.
3) conduct a survey related to understanding of laws with the collaboration of schools and
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colleges in the area and conduct programmes to make people aware of importance of these
laws.

4) participate in this conversation and know more about their understanding about laws re-
lated to cutting of trees and design your strategies of implementing concerned laws.
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People who are closest to information technology agree with the observation that benefts of

screens as a learning tool are overblown and the risks for addiction and stunting develop-

ment seems high. Screens are said to be beyond personal control and we situate them in

pleasure centres of the developing brains. As a responsible parent you will...

1) not let your children to have cellphones until high school and ban phone use while riding
a vehicle and severely limit its use at home.

2) not use screens and net unless extremely needed at home and set a role model for your
children.

3) not get scared about the unknown as you gxew up watching a lot of television and allow
your toddlers to play with i-pads.

4) sfudy authentic researches related to this problem and benefits of sereens and take decisions

judiciously.
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